s |

E

P10.0081.C

MERCEDES Specification
HENDRICKSON 2259 Total
E 260 Weight 13.50 kg
o F
EIJ Operation 50b
Pl ‘ 1 Pressure -0 bar
@ | Contitech | g : Operation
8 ° o | TPeral 400 mm
€ | Firestone 1717 B-11 Space
@ | Dunlop D13B42 Assembly
s : - . 340 mm
ec  Phoenix ¥ M20x 1.5 Height
2 Goodyear 1R13-150 : : : Loading 2450 K
& | CF Gomma T Capacity g
P10.1885.C
MAN Specification
Total
= Weight ~ 12:10kg
o W
i
E M10x1 - 6H M18x1.5 - 6g Operation 5.0 bar
P10.1885 M18x1.5 - 6g Pressure
@ | Contitech 1885 Nm. K | Operation
[T 300 mm
£ | Firestone i Space
o &
© Dunlop 2060 2205 Assembly
[T
& | Phoenix Height ~ 280™mM
§ Goodyear Loading 2000 K
& | CF Gomma Capacity ~ 2000Kg
P10.1885.R1
IVECO DR Specification
MAN Total
z | Weight ~ 1:90kg
o \
|=E’§m§ Operation 50D
P10.1885 Pressure - ar
& | Contitech 1885 N1 Operation
o . 300 mm
€ | Firestone 1R2A445 280 Space
@ | Dunlop D12S07 Assembly
s : . 260 mm
ec | Phoenix 1F20B Height
9 Goodyear 9003 Loading
] Capaci 2000 Kg
©  CF Gomma 1SC 270-28 apacity
P10.2725.C
GIGANT Specification
s ot Total 1750 k
@ 249 . .
= 210 Weight g
o D 0 .
eration
P 5.0 bar
NEEA Pressure
@ | Contitech 2725 MB m.K 2 ‘ Operation
[T N & 390 mm
£ | Firestone | Space
@ | Dunlop | Assembly
L3 M22x1.5
& | Phoenix B2 Height ~ 500 MM
§ Goodyear Loading 50K
S S S .
& | CF Gomma ‘ Capacity 320K




= ah
E

P10.2725.S

GIGANT 2300 Specification
|| — Total
E ' : 2 311 Weight 6.2 kg
(=) ! 210
IEga Operation 50b
P10.2725 st Pressure O
& | Contitech 2725 MB ‘ g - ‘ Operation
] <! 390 mm
g Firestone ‘ ‘ Space
1)
® | Dunlop ‘ Assembly
- | . 355
& | Phoenix V22 X 1.5 2xM12 Height mm
(/] I E— . .
o | Goodyear ‘ Loadin
2 y 9 3250k
© CF Gomma 2258 Capacity
P10.4004.C03
SAF Specification
s Total 0.50 k
& Weight UKy
M22x1.5 6H-7H .
258 (}))peratlon 5.0 bar
M12x1.75 69 ressure
# | Contitech 4004 NPO3 Operation
o . 325 mm
5 Firestone Space
-
% Dunlop 55 Assgmbly 350 mm
e Phoenix 0259 M12x1.75 6H-7H H6|ght
§ Goodyear Loading 2250 K
& | CF Gomma Capacity Y
P10.4004.CP03
SAF Specification
m | m - P29 Total
Operation
EE£2 Prossure 20 bar
P10.4004 N
& | Contitech 4004 NPO3 g o Operation 325
§ Firestone 1T 17BS-6 Space mm
1)
% Dunlop D12 B13 | oz 1s  2XM12 Asse'mbly 350 mm
o= | Phoenix 1DK 22 E-8 = Height
9 Goodyear 1R11-713 Loading
e . 2250 Kg
o CF Gomma 17323-33 Capacity
P10.4004.S02
SAF Specification
s Total 6 20 k
= Weight 9470
© @17 Onerati
peration
Pressure 5.0 bar
& | Contitech 4004 NP02 Operation
o 325 mm
5 Firestone 1T 17BS-6 Space
% Dunlop D12 U13 M16 Assgmbly 350 mm
o | Phoenix 1 DK 22 E-5 NP Height
4 Goodyear 1R11-705 Loading
e L 2250Kg
o CF Gomma 1T19E5 Capacity




s |

E Air Springs

P10.4008.C01

FRUEHAUF Specification
= ROR Total 120k
&  WEWELER Weight 1=

0 .
peration 5.0 bar
Pressure
8 Contitech 4008 NPO1 Operation
o . 360 mm
g Firestone 1T19F-12 Space
E Dunlop Assembly 500
. mm
& | Phoenix 1D28 C-12 Height
2 Goodyear Loading
&5 | CF Gomma Capacity 2150 Kg
P10.4008.S

FRUEHAUF 0265 Specification

ROR | Total
2 WEWELER 0287 Weight ~ >00kg
=] " M22 x 1.5 i

l: Operation 50b
EsZ= Pressure - bar
- P10.4008.S
o 8 360 mm
£ | Firestone Space
g Dunlop | A bl
ssem
B oroun ‘ gt 500
o= | Phoenix 4 xM12 g
§ Goodyear \ \ / Loading 2750 K
& | CF Gomma Capacity 50Kg
P10.4022.C02
SAF Specification
Total
2 Weight 950 kg
° M12 6H-7H 0 .
2xM12x1,5 6g M22x1.5 6H-7H & pe]’a“on
i Pressure 5.0 bar
{i? 3 ‘
@ | Contitech 4022 NP02 S of ’C 5 Operation
o . © - 325 mm
£ Firestone 1T 17BS-6 ? % Space
o Lo~
te Dunlop D12 B14 © 0259 55 60 Assembly 350 mm
& | Phoenix 1DK 22 E-9 © o0 Height
9 Goodyear 1R11-714 Loading
e C . 2250 Kg
& | CF Gomma 1T 300-37 apacity
P10.4022.C03
SAF Specification
Total
2 Weight ~ 9-50kg
° 228, Operation
2xM12x1,5 6g M22x1.5 6H-7H Pressure 5.0 bar
& | Contitech 4022 NPO3 g >G =, Operation
[T aso 1] 325 mm
5 Firestone K/ Space
8 | Dunlop Assembly
g Phoenix 9259 M12x1.75 6H-7H Height 350 mm
§ Goodyear Loading 2250 K
& | CF Gomma Capacity 50 Kg




P10.4022.CP02
SAF Specification
‘ Total 6.90 k
@ 259 . .
§ f i g R Weight g
Esa Operation
P10.4022 \ R Pressure 5.0 bar
g Contitech 4022 N2 g - Operation 295
§ Firestone 1T 17BS-6 Space mm
1
% Dunlop D12B14 . anrn | 2XM12 Assgmbly 250 mm
o | Phoenix 1DK 22 E-9 ; Height
9 Goodyear 1R11-714 Loading
e = 2250Kg
¢& | CF Gomma 17 300-37 Capacity
P10.4022.CP03
SAF Specification
ﬂL . J Total
@ 259 .
§ F = .\ Weight ~ 6:90kg
P Operation
EE2 Prossure -0 ber
P10.4022 o
# | Contitech 4022 NPO3 o Operation 325
§ Firestone 1T17BS-6 Space mm
E Dunlop D12B14 i M22 X 15 Assembly 350 mm
& | Phoenix 1DK 22 E-9 : Height
4 Goodyear 1R11-714 Loading
° 2250 Kg
& | CF Gomma 1T 300-37 Capacity
P10.4022.CP05
SAF Specification
Total 6.90 k
= 0250 Weight ~ 6-90 kg
° 150
220, Operation 50b
\ Pressure -0 bar
@ Contitech 4022 NPOS g . Operation
0 ° 8 325 mm
€ | Firestone 1T 17BS-6 Space
E Dunlop D11 B41 ) opy s 2XM12 M16 Asse'mbly -
& | Phoenix 1DK 22 E-11 ¢ Height
2 Goodyear 1R11-781 Loading 2250 K
& | CF Gomma Capacity Y
P10.4022.S02
SAF Specification
s Total 180 k
= Weight ~ *°7 X0
o 217 .
Operation
Plo.‘mzz Pressure 20 bar
@ | Contitech 4022 NP02 | N Q Operation
1} ‘ 3 325 mm
£ | Firestone 1T 17BS-6 : Space
8 | Dunlop D11 U40 i mie Assembly .
& | Phoenix 1 DK 22 E-9 NP \ Height
§ Goodyear 1R11-709 Loading 2250 K
& | CF Gomma Capacity Y




P10.4023.C03
SAF Specification
C\-ﬂ—‘:‘:"“_m‘ﬂi Total
§ 4 ; N g;? 2 260 Weight 13.50kg
I = | >
(= Operation
I Pressure
8 Contitech 4023 NP03 - - % Operation
o . Fa s R 350 mm
g Firestone 1T 19L-11 Space
1)
Dunl D13 B26
% un o? . - 4 M2 Assgmbly 420 mm
o | Phoenix 1D 28B-10 = M22X 15 Height
9 Goodyear 1R14-729 Loading
S . 2750 Kg
& | CF Gomma 119 E-2 Capacity
P10.4023.S
SAF 0265 Specification
- Total
E ! @ 287 Weight 4.90 kg
=) | 210
P Operation
Es2 Pp 5.0 bar
P10.4023 AN st ressure
@ | Contitech 4023 MB/0 | — " ol Operation
o ! = ] 350 mm
£ | Firestone | ° ‘ Space
E D | i i 2xM12
@ ' Uuniop Assembly
= ! M22 x 1.5 i
2 Phoenix | Height 420 mm
§ Goodyear i Loading 2750 K
& | CF Gomma ' , Capacity Y
P10.4028.C02
SAF m Specification
< |scrmTz Fﬂ — R Towal
o |\ WEWELER 2 020 Weight 00 kg
o E 210 @200
P10.4028 Operation 50b
I Pressure - bar
g Contitech 4028 NP02 2 < ° ' Operation 350 mm
§ Firestone 1T19L-12 o Space
1)
®© Dunlo D14 B47
] o | Lo dxiiz Assembly o mm
ec  Phoenix 1D 28 F-1 = M22X 1.5 Height
2 Goodyear 1R14-782 Loading
& | CF Gomma Capacity 2900Kg
P10.4028.C05
ROR Specification
= SAF Total 450k
= 0287 @ 260 Weight UKy
o 0 i
peration
Ega Pressure 5.0 bar
& | Contitech 4028 NP05 P10.4028 g Operation 350 mm
§ Firestone 1T19L-11 Space
@ | Dunlop Assembly
[
& | Phoenix 1D 28 B-12 Height ~ 460 MM
§ Goodyear Loading 2900 K
& | CF Gomma Capacity ~ 2900Kg




s |

E Air Springs

P10.4028.S

SAF 0265 Specification
= SCHMITZ Total 5.00 k
5 | WEWELER Weight =19

Operation
Pressure 5.0 bar
& | Contitech 4028 MB/0 Operation
o .. 350 mm
< | Firestone Space
g Dunlop A bl
o ssembly
. 4
2 Phoenix Height 60 mm
2 Goodyear Loading
& | CF Gomma Capacity  2900Kg
P10.40303.C
SCANIA Specification
M14x1.5 6H TOtaI
E f ‘ T o8 Weight 1.50 kg
o Eg-;ﬂg ~Er" 2x211.9
10.40303 %] Operation
| P 5.0 bar
F | ressure
. S |
& | Contitech \ ! Operation
[T - \ i 260 mm
g Firestone . \4’/ , | Space
- S T
8 | Dunlop . o 517 Assembly 270 mm
¢ | Phoenix - Height
§ Goodyear Loading 2100 K
& | CF Gomma Capacity 00Kg
P10.40304.C
SCANIA Specification
M14x1.5 6H TOtal
z ST oo Weight ~ 8:00kg
o [ X@11.
ol oS Operation
) | 211.9 50 bar
F// ; Pressure
By I
@ | Contitech ‘ 1 ] @ ® i
8 ontitec | / - Operation 270 mm
€ | Firestone |/ Space
E Dunlop \ra?:/ o186 Assembly 280
& | Phoenix Height mm
2 Goodyear Loading
& | CF Gomma Capacity 1900 Kg
P10.40305.C
SCANIA Specification
Total
B MBI e Weight  8:50kg
(=] 567 2x@11.9 .
- Operation
x| Q118 5.0 bar
F/ > | Pressure
rey' i
7] i s I | c ® i
8 Contitech } / Lﬂj Operation 270 mm
g Firestone | } Space
:q'_a Dunlop \r;:/ 203 Assembly 280 mm
2 Phoenix Height
§ Goodyear Loading 2000 K
& | CF Gomma Capacity 2000 K@




s |

E Air Springs

P10.40306.C

SCANIA Specification
s M14x1.5 6H Total 8.80 k
= T o228 Weight 00 Kg
(=] ~ER— 2x211.9
56 | :
. oty Operation 5.0 bar
VA ! Pressure
& | Contitech F : ] i Operation 265
g Firestone 1 ! Space mm
® g N N——1
8 Dunlop o 127 Assembly 275
2 Phoenix 2206 Height mm
2 Goodyear Loading
& | CF Gomma Capacity  20°0K0
P10.4154.CP05
RENAULT Specification
: I o220 Total
E @240 Weight 6.50 kg
o 0 .
peration
Pressure 5.0 bar
& | Contitech 4154 NP05 Operation
[T 330 mm
£ | Firestone 1T 15M-4 Space
1
® | Dunlop Assembly
Yo 4xM12x1.25
g Phoenix 1DK 23 F-1 2XM10x1.25 Height 500 mm
§ Goodyear 1R12-069 Loading ’
& | CF Gomma Capacity 23009
P10.4154.S01
RENAULT - 0 254 > Specification
m Total
E il @229 Weight ~ 4-50kg
(=) ! @117
| M16 x 1.5 Operation 5.0 bar
Eza Pressure
& | Contitech 4154 NPO1 P10.4154 Q Operation
[T - b 330 mm
g Firestone ‘ < Space
8 | Dunlop 1D 23B | M12 Assembly
| 2xM10x 1.25 .
& | Phoenix 1R12-069 i M Height 300 ™™
2 Goodyear ! Loading
& | CF Gomma v Capacity  2300Kg
P10.4156.C04
GRANNIG Specification
NEWAY 022 Total
o 0 .
peration
Pressure 5.0 bar
g Contitech 4156 NP04 Operation
o 335 mm
£ | Firestone 1T 15M-6 Space
@ | Dunlop D12 B33 Assembly
K 1/2-13 UNC 4x1/2-13 UNC
& | Phoenix et Height ~ /0MM
8 Goodyear 1R12-716 Loading
o Capaci 2400 Kg
& | CF Gomma 1T 323-33 apacity




s |

E Air Springs

P10.4156.C06

FRUEHAUF Specification
ROR Total
@ 260
E - W6|ght 8.10 kg
o
Operation
PFr)essure 5.0 bar
& | Contitech 4156 NP06 Operation
o . 335 mm
£ Firestone 1T 15M-6 Space
& | Dunlop D12B19 Assembly
‘15 . M20 x 1.5 H . ht 370 mm
e  Phoenix 1 DK-21A-2 elg
4 Goodyear 1R12-719 Loading
(] : 2400 Kg
o CF Gomma 17323-33 Capacity
P10.4156.C07
FRUEHAUF Specification
@229 Total
o
EZ2 Operation
P10.4156 Pressure 5.0 bar
& | Contitech 4156 NPO7 Operation
o 335 mm
& | Firestone Space
g
8 Dunlop Assembly
& | Phoenix 1DK 23 K-28 e s Height 370 ™M
§ Goodyear Loading 2400 K
& | CF Gomma Capacity 00Kg
P10.4156.C09
FRUEHAUF Specification
ROR @229 Total
E Weight  10.00 kg
o
Operation
P[:essure 5.0 bar
& | Contitech 4156 NP09 Operation
o . 335 mm
£ Firestone 1T 15M-6 Space
8 | Dunlop D12 B16 Assembly
& | Phoenix " NS Height 370 mm
2 Goodyear 1R12-706 Loading
& | CF Gomma Capacity  2400Kg
P10.4156.C11
FRUEHAUF Specification
o226 Total
(=] 120
Operation
PEessure 5.0 bar
@ | Contitech 4156 NP11 . +-¢1+21 | operation
2 | Firestone ? ! 9 Space 335 mm
o
:q'_a Dunlop Assembly
& | Phoenix M26 13 ox Height 370 ™M
4 Goodyear : \ Loading
e SES ; 2400 Kg
© | CF Gomma S Capacity




P10.4156.CP10
HENDRICKSON Specification
0226 Total
(=) @ 260 0 .
‘ ’ peration
Pressure 5.0 bar
& | Contitech 4156 NP10 Operation
o .. 335 mm
€ | Firestone 1T 15M-6 Space
1)
@ Dunlop 1/2-13 UNG Assembly
E Phoenix Fpatiid w2 Height 370 mm
2 Goodyear 1R12-461 Loading
& | CF Gomma Capacity  2400Kg
P10.4156.CP14
HENDRICKSON Specification
NEWAY Total
@ 229
2 ROR Weight 700k
o
EEZ2 .
P10.4156 Operation ¢ & par
Pressure
& | Contitech 4156 NP14 Operation
[T 335 mm
£ | Firestone Space
1
% punlop 12833 V2ASUNC L gih 16 une 4x1/2:13 UNC Assembly 370 mm
e | Phoenix 1 DK 23 K-9082 14-18 NPT Height
4 Goodyear 1R12-716 Loading
o Capacity 2400 Kg
o CF Gomma 1T323-32 apacity
P10.4156.CP15
FRUEHAUF Specification
HENDRICKSON 5229 Total
E ROR Weight 7.00 kg
° 0
peration
Pressure 5.0 bar
& | Contitech 4156 NP15 Operation
o .. 335 mm
€ | Firestone 1T 15M-6 Space
8 | Dunlop D12 B19 Assembly
2 | phoenix s xis Height 370 ™™
9 Goodyear 1R12-719 Loading
e C . 2400 Kg
© | CF Gomma 1T 323-33 apacity
P10.4156.CP16
HENDRICKSON Specification
ROR 0226 Total
o 0 .
peration
& Pressure 5.0 bar
& | Contitech 4156 NP16 Operation
o 335 mm
£ | Firestone Space
@ | Dunlop g Assembly
[
& | Phoenix Height ~ 370™™
§ Goodyear Loading 2000 K
& | CF Gomma Capacity 00Kg




== ki
Air Springs

P10.4156.S01

HENDRICKSON 2254 Specification
ROR — Total
E i < @ 229 Weight 4.60 kg
=) ‘ @117
Operation 50b
IE Pressure - bar
g | Contech 4156 NPOT P10.4156 . Operation
€ | Firestone Space > mm
3 | Dunlop 1/2-13UNC L 3/4-16UNF 1/2-13UNC | Assembly 370
2 Phoenix 1/4-18NPT Height mm
2 Goodyear Loading
e = 2400 Kg
& | CF Gomma Capacity
P10.4156.S05
FRUEHAUF - 925 > Specification
- Total
§ ‘ @229 Weight 4.60 kg
‘ ~ene Operation 50b
IEga Pressure - bar
g | Contech 4156 NP05 P""'“ss ) Q Operation
£ | Firestone ! N M12x 1.5 Space mm
@ | Dunlop | Heoxe Assembl
= | ssembly
- M12
é Phoenix U Height 370 mm
§ Goodyear Loading
e - 2400 Kg
& | CF Gomma 1T 323-33 ' Capacity
P10.4156.512
MAN -« 2254 > Specification
s i 2 Total 100k
(' . S ; .00 kg
g | & 16 Weight
I= Operation 50b
Pﬁ%?ﬂ Pressure o bar
§ Contitech 4156 NP12 ) Q Operation 33
£ | Firestone Space > mm
®
8 Dunlop Assembly 7
& | Phoenix M12 Height 370 mm
2 Goodyear Loading
e = 2400 Kg
o | CF Gomma Capacity
P10.4157.CP03
FRUEHAUF Specification
NEWAY o250 Total
E ROR D @ 200 Weight 5.20 kg
o
P10.4157 ?,perat'm 5.0 bar
| ressure
§ Contitech 4157 NPO3 ! g Operation
£ Firestone Space 310 mm
:q'_; Dunlop ; Assembly 400
& | Phoenix | £ Height mm
§ Goodyear i Loading
e 1 = 2100Kg
o CF Gomma a1 x Capacity

10




==k
E Air Springs

P10.4157.CP04
MERCEDES Specification
ROR ) = h Total
= ; . 0200 Weight ~ 930 kg
o 150
Operation
® X I Pressure 5.0 bar
@ | Contitech 4157 NPO4 o S S Operation
o . . © 310 mm
g Firestone 1T 15MPW-7 ‘ « Space
E Dunlop D12 B18 ) M2 Assgmbly 200 mm
& | Phoenix 1DK 21 A-4 S| fmezxas Height
2 Goodyear 1R11-111 Loading 2100 K
& | CF Gomma Capacity g
P10.4157.CP05
GRANNING Jh Specification
|
ROR Niiad T < Total
= F ! i R Weight ~ 2-30kg
o
IE&Q Operation 50b
PlO.|4157 Pressure .0 bar
& | Contitech 4157 NP05 8 Operation
I 310 mm
£ | Firestone 1T 15MPW-7 Space
E Dunlop D12B17 : Assembly 100
& | Phoenix 10K 21 A3 | \J* Height mm
) ! .
@ Goodyear 1R11-106 i | B~ Loadlrllg 2100 Kg
& | CF Gomma ol Capacity
P10.4157.CP06
ROR Specification
@ 259 Total 580k
= Weight ~ 2-80kg
° S Operati
peration
s I Pressure 5.0 bar
@ | Contitech 4157 NP06 B - Operation
o .. 310 mm
g Firestone 1T15MPW-7 Space
E Dunlop D11 B37 . 2xMio EM22x15 5135 Asse'mbly 400 mm
& | Phoenix 1DK 20 A-1 : Height
2 Goodyear 1R11-764 Loading 2250 K
& | CF Gomma Capacity Y
P10.4157.CP08
FRUEHAUF Specification
NEWAY Total
@ 259 . 580k
E ROR Weight g
(=) @ 240 Operati
peration
s Pressure 5.0 bar
& | Contitech 4157 NPO8 Operation
o 310 mm
£ | Firestone Space
% Dunlop D12 B30 . o Assgmbly 330 mm
o | Phoenix 1 DK 20 C-2 Height
§ Goodyear 1R11-773 Loading 2200 K
& | CF Gomma Capacity g




s |

E Air Springs

P10.4157.CP09

ROR Specification
Total
3 259 .
E ~— 25 Weight 5.60 kg
=) « D200
Operation
Pressure 5.0 bar
& | Contitech 4157 NP09 Operation 310 mm
§ Firestone 1T 15MPW-7 Space
@ | Dunlop D12 B17 Assembly
s : . 400 mm
ec | Phoenix 1DK 21 A-31 Height
4 Goodyear 1R11-106 Loading
] Capaci 2100 Kg
o | CF Gomma apacity
P10.4157.CP10
FRUEHAUF Specification
ROR Total
3 259 .
E T Weight 5.60 kg
=] « @200
Operation
Pressure 5.0 bar
& | Contitech 4157 NP10 0 Operation
o . 310 mm
£ | Firestone Space
E Dunlop D12 B29 M12 Assembly 400 mim
& | Phoenix 1 DK 20 A-51 Height
4 Goodyear 1R11-772 Loading
o Capacity 2100 Kg
o CF Gomma apacity
P10.4157.S
FRUEHAUF 2248 Specification
ROR ] [ Total
T ¥ -
E ?J' Lg 2xM12x1.75 6g Weight 530k
=) I: M22x1.56H @200 .
Es=a Operation 5.0 bar
P10.4157 & ) Pressure .
ar-w. N
@ | Contitech 4157N N ‘ ® Operation
8 . 3 L berat 310 mm
& | Firestone Space
g Dunlop A bl
2 M2 ssembly
& | Phoenix Height 400 mm
2 Goodyear i Loading 2100 K
& | CF Gomma Capacity Y
P10.4157.S02
ROR 2248 Specification
Total
= Weight 470k
© @ 116 i
P10.4157 Operation 5.0 bar
! Pressure
@ | Contitech 4157 NP2 | Q Operation
o . \ N 310 mm
£ | Firestone | s Space
@ | Dunlop | M12 Assembly
- |
& | Phoenix | Height 00 mm
§ Goodyear \M f Loading 2100 K
& | CF Gomma Capacity 00Kg

12




s |

E Air Springs

P10.4158.CP03
SCHMITZ Specification
@259 Total
(=] 3 260 0 )
peration
Pressure 5.0 bar
@ | Contitech 4158 NPO3 -+ Operation
o . 310 mm
g Firestone 1T 15MPW-9 Space
8 | Dunlop D12 B22 2o TMz2x15 o158 Assembly
& | Phoenix 1 DK 20 B-1 Height
4 Goodyear 1R12-749 Loading
o : 2100 Kg
© CF Gomma Capacity
P10.4158.S02
SCHMITZ Specification
Total
E @ 259 Weight 5.00 kg
© 2116 .
- Operation 50b
Pressure -0 bar
8 Contitech 4158 NP02 ‘ - O Operation
o . | B 310 mm
5 Firestone 1T 15MPW-9 ‘ Space
3 | Dunlop D12 U23 ] o M0 V22 15 M12 Assembly
& | Phoenix 1DK 20 B-1 NP Height
4 Goodyear 1R12-748 Loading
e . 2100Kg
o CF Gomma Capacity
P10.4159.C03
FRUEHAUF Specification
= @229 Total
E Weight ~ 11-50kg
(=) @ 260
Operation
Pressure 5.0 bar
&% | Contitech 4159 NPO3 Operation
o . 340 mm
€ | Firestone 1T 15M-9 Space
& | Dunlop D12 B8 Assembl
S M12 M12x 15 . Y 400 mm
ec | Phoenix 1DK 23L-27 M20x 15 Height
2 Goodyear Loading 2050 K
& | CF Gomma 17323-40 Capacity g
P10.4159.C04
NEWAY | Specification
- 0226 Total
E @260 Weight 9.00 kg
o
EE2 ;
P10.4159 Operation ¢ o or
! o Pressure
@ | Contitech 4159 NP04 "n" ) Operation
Q. mm
£ | Firestone 1T 15M-9 ? Space
5|" L w4 §
% Dunlop D12 B34 : wasune [ 11213 NG Assgmbly 400 mm
oc  Phoenix 1 DK 21B-2 1/4-18 NPT Height
4 Goodyear 1R12-717 Loading
B N/~ N B . Capaci 2450 Kg
& | CF Gomma 17323-40 | a3 apacity

13




P10.4159.C06
FRUEHAUF Specification
il ‘ 0226 Total
© = Overati
P10.4159 Pperat")” 5.0 bar
ressure
& | Contitech 4159 NP06 Operation
o . 340 mm
€ | Firestone 1T 15M-9 Space
8 | Dunlop D12B01 Assembly
= : M12x 1.5 . 400 mm
ec | Phoenix 1DK 21 B-2 M20x 1.5 Height
4 Goodyear 1R12-701 Loading
(] Capaci 2450 Kg
& | CF Gomma 1T 323-40 apacity
P10.4159.C07
FRUEHAUF Specification
T ‘ @229 Total
<) Ega @ 260 i
P10.4159 gy Operation 5.0 bar
T Pressure '
@ | Contitech 4159 NPO7 o Operation
o . ’ S 340 mm
£ | Firestone | Space
E Dunlop D12 B15 T 212 Assembly 400
& | Phoenix 1DK23L-25 M20x 15 Height mm
4 Goodyear 1R12-702 Loading
o bt Capaci 2450 Kg
o CF Gomma 1T 323-40 | apacity
P10.4159.C08
HENDRICKSON | Specification
el Total
E 2229 Welght 8.00 kg
© IE .
P10.4159 Operation ¢ o
\ - Pressure
@ Contitech 4159 NPOB ) Operation
o . 340 mm
€ | Firestone Space
1)
o Dunlop 11213 UNC Assembly
2 | Phoenix v woove | SN 360 mm
2 Goodyear 1R12-281 Loading
& | CF Gomma Capacity  2450Kg
P10.4159.C10
FRUEHAUF Specification
it Total
E E‘ga @229 Weight 14.00 kg
o XTIy
P10.4159 Operation 50b
Pressure -0 bar
@ | Contitech 4159 NP10 : Operation
o . 340 mm
£ | Firestone Space
@ | Dunlop Assembly
L M12 M20 x 1.5
& | Phoenix iz 18 Height 400 ™™
§ Goodyear Loading 2050 K
& | CF Gomma Capacity 50Kg

14




s |

E Air Springs

P10.4159.CP09

FRUEHAUF Specification
"""""""""""""""" o220 Total
o Fe= ]
P Eﬁ?é ~ OE0 Operation
y Pressure 5.0 bar
& | Contitech 4159 NP09 g Operation
o .. 340 mm
€ | Firestone 1T 15M-9 Space
& | Dunlop D12 BO4 Assembly
® . N 218 m12 . 400 mm
o | Phoenix 1 DK 23 L-9131 j E\ 1 Height
2 Goodyear 1R12-721 fl‘ E Loading
& | CF Gomma 1413 Capacity 2450 Kg
P10.4159.CP11
HENDRICKSON Specification
2229 Total
= Weight 730k
(=) @ 260 Operati
) ’ eration
PFr)essure 5.0 bar
& | Contitech 4159 NP11 Operation
o . 340 mm
£ | Firestone Space
-
® | Dunlop 112-13 UNC Assembly
2 phoerix v e
§ Goodyear Loading 2450 K
& | CF Gomma Capacity 50Kg
P10.4159.CP12
HENDRICKSON ‘ Specification
M 0220 Total
E Weight 7.50 kg
o
£ Operation
P10.4159 Pressure 5.0 bar
&% | Contitech 4159 NP12 . Operation
o .. 340 mm
g Firestone Space
1)
Dunl
% un 0? 112-13 UNC 3416 e 4x1/2-13 UNG Asse'mbly 400 mm
ec | Phoenix 1DK 23 L-9101 Ta-1B NPT Height
2 Goodyear Loading 2450 K
& | CF Gomma 1T323-40 Capacity g
P10.4159.CP13
HENDRICKSON Specification
0220 Total
o
Es= Operation
P10.4159 Pressure 5.0 bar
& | Contitech 4159 NP13 Operation
o 340 mm
5 Firestone Space
@ | Dunl
% un 0? 12-13 UNC 34-10 UNF 4x1/2-13 UNC Asse_mbly 360 mm
e | Phoenix 1DK 2319192 1418 NPT Height
§ Goodyear Loading 2450 K
& | CF Gomma Capacity 50 Kg

15




==

s |

Air Springs

P10.4159.CP14

FRUEHAUF Specification
Total
@ 260
E . Weight ~ 750kg
o
Operation
Pressure 5.0 bar
& | Contitech 4159 NP14 Operation
o . 340 mm
€ | Firestone 1T 15M-9 Space
8 | Dunlop Wizx1s Assembly 400
& | Phoenix 1 DK 21 B-4 Height mm
4 Goodyear Loading
(] Capaci 2450 Kg
& | CF Gomma 1T 323-40 apacity
P10.4159.S01
FRUEHAUF 2254 Specification
Total
E i @ 229 Weight 5.20 kg
o \ @ 117 Ooerat
’ peration
EEs= Pressure >0 B
& | Contitech 4159 NPO1 PIO.‘4159 . - Q Operation 340 mm
S | Firestone 1T 15M-9 | ° Space
g ‘ 3/4 - 16UNF
8 Dunlop ! 1/4 - 18NPT 1/2-13UNC | Assembly 100
& | Phoenix 1 DK 21 B-2/6 112 13uNe Height mm
4 Goodyear 1R12-113 Loading
o Capacity 2450 Kg
& | CF Gomma 1T 323-40 apacity
P10.4159.S05
FRUEHAUF 0254 Specification
2 Total
E @229 Welght 5.00 kg
o 2116 )
P D C’))peratlon 5.0 bar
P10.4159 ressure
@ | Contitech 4159 NP05 | . Q Operation
o w 5 340 mm
& | Firestone 1T 15M-9 ‘ Space
o M12x 1.5
8 Dunlop D12 U04 | M20 x 1.5 M12 Assembly 100
2 | Phoenix 1 DK 21 B-5 NP Height mm
9 Goodyear 1R12-761 Loading
e C . 2450 Kg
o | CF Gomma 1T 323-40 apacity
P10.4183.C01
MERCEDES Specification
s Total 120k
. . g
g o265 Weight
Operation
Pressure 5.0 bar
& | Contitech 4183 NPO1 ? Operation
o . 370 mm
£ | Firestone Space
@ | Dunlop M16 x 1.5 Assembly
[ .
& | Phoenix Height ~ 280mMmM
§ Goodyear Loading 200k
& | CF Gomma Capacity ~ S200Kg

16




s |

E Air Springs

P10.4183.C21

MERCEDES Specification
Total
E Weight  11:20kg
o @ 265
EZ2 Operation 50b
P10.4183 Pressure - bar
& | Contitech 4183 NP21 ! o Operation
o . & 370 mm
€ | Firestone Space
1
® ' Dunlop Assembl
s - ! ) M16 x 1.5 ' y 280 mm
o= Phoenix U U & Height
0 ! .
o | Goodyear Loadin
° 7= , D 3200Kg
& | CF Gomma Capacity
P10.4183.51
MERCEDES 2200 Specification
Total
o
IE Operation 50D
P10.4183 Pressure -0 bar
& | Contitech 4183 N1 } o Operation
o ¥ 360 mm
& | Firestone ! Space
g Dunlop | A bl
“ ssembly
& | Phoenix ‘ Height ~ S10Mm
P G d 4 M24 x 1.5 L d
g oodyear oading 3200 kg
& | CF Gomma ) Capacity
P10.4390.C01
MERCEDES Specification
/—@.! $ > Total
= . ) 1% Weight  8:00kg
w ! & 200 eight
° [Eza Operati
P10.4390 PEraon ¢ o bar
Pressure
&% | Contitech 4390 NPO1 o Operation
o . 300 mm
€ | Firestone Space
3 | Dunlop D12T10 M16x 1.5 Assembly
© . . 280 mm
e | Phoenix 1KF 21-1 Height
2 Goodyear 9505 Loading
& | CF Gomma Capacity  2200Kg
P10.4390.C02
MERCEDES Specification
s !@"@] " Total 0.80 k
I I . . g
g | \ 200 Weight
Es=2 Operation
P10.4390 Pressure 5.0 bar
& | Contitech 4390 NP02 o P Operation
o . & 300 mm
£ | Firestone J L Space
‘E Dunlop D12 | . M16x15 Assembly 280 mm
& | Phoenix 1KF 21-2 | ) Height
§ Goodyear 9506 : Loading ;
& | CF Gomma Capacity ~ 2200Kg

17




s |

E Air Springs

P10.4390.C03

MERCEDES Specification
Total
E %ﬁ. e @ 190 Weight 9.80 kg
o |
IEB%?, Operation 50b
P10.4390 Pressure - bar
& | Contitech 4390 NP03 | i Mi6x 15 ? Operation
o . & 300 mm
€ | Firestone L Space
E Dunlop D12 T11 i ) Assembly 280
& | Phoenix i . M16x1.5 Height mm
2 Goodyear 9506 | Loading
& | CF Gomma Capacity ~ 2090K0
P10.4390.C04
MERCEDES Specification
. Total
E o @ 190 Weight 9.60 kg
o F Overat
£ZA peration
Pﬁ.4390 Pressure 5.0 bar
& | Contitech 4390 NP04 - ® Operation
Q. | 8 300 mm
£ | Firestone U Space
e 1
8 Dunlop | . Assembly 280
& | Phoenix ' . M16x15 Height mm
§ Goodyear Loading
& | CF Gomma Capacity  20°0 kg
P10.4390.C21
MERCEDES - Specification
" Total
‘__|_I
E 4 ! ) < 9200 Weight 7.90 kg
o
I=E’ga Operation 50b
P10.4390 Pressure .0 bar
&% | Contitech 4390 NP21 P Operation
o . 300 mm
< | Firestone Space
g
8 Dunlop Assembly 280
& | Phoenix M16x 1.5 Height mm
2 Goodyear Loading
& | CF Gomma Capacity  2200Kg
P10.4390.C22
MERCEDES Specification
Total
E @ 200 Weight 7.90 kg
(=} 0 .
peration
Pressure 5.0 bar
& | Contitech 4390 NP22 e Operation
o ke x15 300 mm
£ | Firestone Space
:q'_; Dunlop Assembly 280
& | Phoenix M16x 1.5 Height mm
§ Goodyear Loading
& | CF Gomma Capacity 2200 kg

18




s |

E Air Springs

P10.4390.C23

MERCEDES Specification
Total
3155
: 9.70 k
é 515 Weight g
Operation
Pressure 5.0 bar
@ | Contitech 4390 NP24 . M16x15 . Operation
o . & 300 mm
g Firestone LJ Space
& | Dunlop | . o MiGx 1.5 Assembly
& | Phoenix | i o Height mm
) .
Good .
g oodyear Loadn.lg 2050 Kg
© CF Gomma Capacity
P10.4390.C24
MERCEDES Specification
— Total
= /_B—'—' ) i Weight 870k
° 1
lEg Operation 50D
P10.4390 Pressure -0 bar
& | Contitech 4390 NP24 | . 0 Operation
[T & 300 mm
£ | Firestone LJ Space
e 1
& | Dunlop | ) Assembly 280
& | Phoenix ' - M16x 1.5 Height mm
m .
g Goodyear v Load”.]g 2050 Kg
o CF Gomma Capacity
P10.4390.51
MERCEDES 2240 Specification
Total
z f | \ . o155 Weight ~ 2-90kg
o 2
E&E Operation
P10.4390 5.0 bar
. Pressure
&% | Contitech 4390 N1 ® Operation
o . 300 mm
g Firestone ’ Space
_q“_; Dunlop D12 U25 . Assembly 280
& | Phoenix 1KF 21-1 NP ' Height mm
) .
Good 9507
g oodyear Loadnllg 2200 Kg
o | CF Gomma Capacity
P10.4390.S2
MERCEDES e Specification
____ Total
W
= | Weight ~ 3-00kg
o
|=E’ Operation 50b
Plﬂ.‘4390 Pressure .0 bar
& | Contitech 4390 N2 | g Operation
o . ‘ S 300 mm
5 Firestone ‘ pace
:q'_; Dunlop D12 U26 | \2d 15 Assembly 280
| X 1. .
& | Phoenix 1KF 21-2 NP | Height mm
7/ .
g Goodyear 9508 — Loadlr.lg 2200 Kg
o CF Gomma Capacity

19




s |

E Air Springs

P10.4420.C01

VOLVO Specification
Total
Operation
P 5.0 bar
. ressure
§ Contitech 4420 NPO1 i Operation
g Firestone 1T 17BR-8 Space 520 mm
..“h.’ Dunlop Assembly ,
2 Phoenix Height 310 mm
2 Goodyear Loading
(] : 2500 Kg
© CF Gomma Capacity
P10.4420.S
VOLVO 0248 Specification
FRUEHAUF 2798 Total
§ Weight 950k
EE2 Operation 5.0 bar
P10.4420 Pressure
§ Contitech 4420 N | g Operation
g Firestone | Space 320 mm
- 1
% Dunlop | Assembly 310
e | Phoenix | Height mm
9 Goodyear Loadin
2 21308 -g 2100 K
& | CF Gomma Capacity g
P10.450.R25
IVECO ;1252053 Specification
MERCEDES | Total
E ‘ Weight 1.80 kg
EE2 Operation
P10.450 5.0 bar
‘ Pressure
§Contitech Rz 450-25 ‘ g Operation 230
g Firestone ‘ Space mm
E Dunlop D12 $13 l Assembly
& | Phoenix 1E23 | Height 200 ™M
2 Goodyear 9050 ‘ Loading
(=] ﬁ:‘:A ; 2350 Kg
& | CF Gomma 18 300-27 PEPTETER Capacity
P10.4713.C02
VOLVO Specification
Total
§ 1 o250 Weight ~ 10:00kg
Operati
peration 5.0 bar
Eza g Pressure
§ Contitech 4713 NP02 P10.4713 Operation
£ | Firestone J Space 310mm
:q'_; Dunlop D12 B24 5 Assembly 330
& | Phoenix 1 DF 22 C-1 Height mm
§ Goodyear 1R12-762 Loading
o . 2100 Kg
o CF Gomma Capacity

20




s |

E

P10.4713.S

VOLVO 528 Specification
@ 259
Total 450 k
E Weight ~0kg
°© |=> Operati
o peration
P10.4713 Pressure 5.0 bar
& | Contitech 4713 N o.k. | 2 Operation
o .. ! S 310 mm
g Firestone | pace
1)
© Dunlo D12 U24 '
s | Assembly 0 m
ec | Phoenix ! Height
2 Goodyear 1R12-763 L# Loading
& | CF Gomma et Capacity  2100Kg
VOLVO Specification
= - Total 10,00 k
= Weight LUKg
o @ 226 0 "
peration
© Pressure 5.0 bar
| Q
@ | Contitech 4718 NPO1 = Operation
o ‘ 330 mm
£ | Firestone Space
-
® | Dunlop Assembly
- . 340
¢ | Phoenix Height mm
§ Goodyear Loading 2500 K
& | CF Gomma Capacity Y
VOLVO Specification
= Total 10,00 k
@ 259 Wei . g
g - eight
Operation
i . Pressure 5.0 bar
& | Contitech 4718 N. 0.K | —t- Operation
el - of 330 mm
g Firestone | ‘ Space
1) H |
® ' Dunlop 2xM10 Assembly
- M16 x 1.5 . 340
& | Phoenix | Height mm
) .
g Goodyear 2130.8 Load”-]g 2500 Kg
o | CF Gomma Capacity
MERCEDES Specification
Total
E 2220 Welght 11.00 kg
(=} @155 0 ti
peration
Pressure 5.0 bar
& | Contitech 4737 NPO1 P Operation
[T~ 320 mm
£ | Firestone Space
@ | Dunlop D13 T04 Assembly
- . 260
& | Phoenix ' M16x 1.5 Height mm
§ Goodyear 9523 Loading 2700 K
& | CF Gomma Capacity Y

21




s |

E

P10.4737.C02

MERCEDES Specification
s Total 1070k
= . 2 1% Weight %124
o | @155
S Operation 50b
PIE0.4737 Pressure -0 bar
& | Contitech 4737 NP02 ® ® Operation
o . 360 mm
g Firestone Space
E Dunlop D13 T05 M24x 15 Assembly 260 mim
& | Phoenix M16x 1.5 Height
2 Goodyear 9524 Loading 2300 K
& | CF Gomma Capacity g
MERCEDES Specification
Total
E & 220 Welght 11.00 kg
(=] @ 155 O )
peration
Pressure 5.0 bar
# | Contitech 4737 NP21 P Operation
o . 320 mm
£ | Firestone Space
®
8 Dunlop Assembly 260
& | Phoenix - M16x 1.5 Height mm
§ Goodyear I Loading 2700 K
& | CF Gomma Capacity g
MERCEDES Specification
s Total 1070k
= 190 Weight S
o @155 X
=a Operation 5.0 bar
P10.4737 Pressure
& | Contitech 4737 NP22 . g P Operation
o . 360 mm
£ | Firestone U Space
2 1
8 Dunlop B Assembly 260 mm
& | Phoenix ' M16x1.5 Height
% | Goodyear oading 0k
& | CF Gomma Capacity Y
MERCEDES 2250 Specification
Total
= | 2 155 Weight  3:50kg
° |=E, Operation
P10.4737 P 5.0 bar
‘ Pressure '
& | Contitech 4737 N1 | 3 ® Operation
o ‘ 310 mm
g Firestone i Space
:q'_a Dunlop ! 215 Assembly 260
& | Phoenix | Xt Height mm
@ | Goodyear oading o0k
& | CF Gomma Capacity g

22




s |

E

P10.4757.C01

MERCEDES Specification
Total
E I 2280 W6|ght 9.30 kg
o " —
l: Operation
E£2 5.0 bar
P10.4757 Pressure
& | Contitech 4157 NPO1 P Operation
o . S 320 mm
g Firestone pace
1)
© | Dunlop D13 T01 Assembly
2 . 270
& | Phoenix M16x 1.5 Height mm
2 Goodyear 9519 Loading 2050 K
& | CF Gomma Capacity g
MERCEDES Specification
Total 0,00k
E & 280 Weight WUkg
o D 0 ii
peration
Pressure 5.0 bar
# | Contitech 4157 NP09 0 Operation
o . 320 mm
£ Firestone Space
E Dunlop D13 T02 Assembly 310 mm
& | Phoenix M16x1.5 Height
§ Goodyear 9520 Loading
& | CF Gomma Capacity g
MERCEDES Specification
Total
E & 280 Welght 9.30 kg
° 2155 - 0 .
peration
Pressure 5.0 bar
& | Contitech 4757 NP21 P Operation
o . S 320 mm
g Firestone pace
1)
® | Dunlop Assembly
2 . 270
& | Phoenix M16x 1.5 Height mm
2 Goodyear Loading 2450 K
& | CF Gomma Capacity Y
MERCEDES Specification
= Total 0.00 k
= Weight LUkg
(=) @ 280 Operati
) g peration
Pressure 5.0 bar
& | Contitech 4757 NP29 ? Operation
o 320 mm
g Firestone Space
@ | Dunlop M16x 15 Assembly
> ' . 310
e | Phoenix Height mm
§ Goodyear Loading 2400 K
& | CF Gomma Capacity g

23




s |

E

P10.4757.51

MERCEDES e Specification
s L Total
Z | Weight ~ 3-30kg
o ‘ @155
Eﬁma_ Operation
P10.4757 Pressure 5.0 bar
§ Contitech 4757 N1 ! 8 Operation
£ | Firestone | Space 320 mm
1) |
% Dunlop D13 U42 ‘ V215 Assembly
gc  Phoenix ! ' Height 210 mm
)
@ Goodyear 9517 s Loading
& | CF Gomma Capacity 2450Kg
MERCEDES 0260 Specification
’—%@& Total
§ i 2155 Weight ~ 330kg
P Operation
Pressure -0 bar
» .
8 Contitech 4757 N2 Operation
£ | Firestone Space S0 mm
-
% Dunlop D13 U43 Assembly
e | Phoenix Height 270 mm
§ Goodyear 9518 Loading
& | CF Gomma Capacity  24%0 kg
MERCEDES Specification
Total
= ; 8.90 k
= Weight ~JUKg
o ‘_IEL 2155 2% ’
I:ga Operation 50b
pEE Pressure O
§ Contitech 4758 NPO1 ( Operation
s Firestone Space 370 mm
@ | Dunlop
% Assembly
g Phoenix M16x1.5 Height 270 mm
)
@ Goodyear Loading
& | CF Gomma Capacity  2800Kg
MERCEDES Specification
Total
E @155 Weight 8.90kg
(=} @280
Operation
Pp 5.0 bar
ressure
» .
8 Contitech 4758 NP21 © ? Operation
£ | Firestone Space 370mm
% Dunlop s M6 x 15 Assembly
& | Phoenix ' Height ~ 270™™
)
@ Goodyear Loading
& | CF Gomma Capacity 2500 kg

24




s |

E

P10.4758.51

MERCEDES 2260 Specification
% Total
E i Weight 3.30 kg
(=) 2155
=2 Operation
P10.4758 Pressure 5.0 bar
& | Contitech 4758 N1 Operation
o . 320 mm
g Firestone Space
1)
© | Dunlop Assembly
.- M24 x 1.5 . 27
& | Phoenix Height 0 mm
2 Goodyear Loading 2600 K
& | CF Gomma Capacity g
SAF Specification
c‘—ﬂ——:‘:l—ﬂ—ﬂ—,gi Total
= v i N\ 2287 2 260 Weight 13.00 kg
HQJ Pga -« 70 @ 200
Pﬁm Operation
. 5.0 bar
“’I Pressure
@ | Contitech 4810 NPO5 — [ ) Operation
§ Firestone 1T19L-7 Space mm
E Dunlop D13 B25 XMz 4xM12 Assembly 240 mm
& | Phoenix 1D 28 A-10 M22X 1.5 Height
4 Goodyear 1R14-730 Loading
o ; 2900 Kg
o CF Gomma 1T19E-1 Capacity
SAF = Specification
Total
E 2 287 Weight 5.00 kg
° .
EE2 Operation 5.0 bar
P10.4810 Pressure
@ | Contitech 4810N | i Operation
o . ¢ 370 mm
€ | Firestone ! Space
1)
® | Dunlop | Assembly
- | . 340
2 Phoenix | Height mm
2 Goodyear | Loading 2700 K
& | CF Gomma Capacity Y
SCANIA Specification
s Total 13.00 k
@ 260 ; .
] o & 287 Weight g
° x Operati
¥ peration
= Pressure 5.0 bar
& | Contitech 4813 NPO7 Operation
7} 350 mm
£ | Firestone 1T 19L-11 Space
@ | Dunlo D13B10
g p Assgmbly 420 mm
oc  Phoenix 1D 28 B-9 4% M0 Height
9 Goodyear 1R14-727 Loading
e . 2750 Kg
o CF Gomma 1T19E-2 BR Capacity

25




s |

E

P10.4813.S

SCANIA 0265 Specification
Total
o |
o Operation 50b
pE Pressure o bar
& | Contitech 4813 MB/0 £ Operation
o . 365 mm
£ | Firestone Space
g Dunlop ‘ A bl
> ssembly
2 Phoenix ‘ Height 420 mm
|
2 Goodyear \ / Loading 2900 K
& | CF Gomma Capacity g
MERCEDES o Specification
VR 7\ Total
E | g 155 220 Weight 8.80kg
=] |=E,§m?‘., .
P10.4838 Operation 50b
‘ Pressure -0 bar
@ | Contitech 4838 NPO1 ‘ o ? Operation
o ” 360 mm
£ Firestone i Space
(] ;
© ' Dunlop | w0 Mi6 Assembly
- o x 1.5
& | Phoenix | Height ~ 520 mm
§ Goodyear ~ : ~ Loading 2600 K
& | CF Gomma Capacity ~ 2900Kg
MERCEDES Specification
Va ‘ir \ Total
= : b 155 . Weight ~ 9-80kg
o = L,
P10.4838 Operation 50b
Pressure - bar
& | Contitech 4338 NP02 ° 7 Operation
o . " 360 mm
g Firestone i Space
& | Dunlop D13 T03 ! M16x 1.5 Assembly
& | Phoenix ! Height
9 Goodyear 9522 ~ ‘ ~ Loading
e . 2600 Kg
o | CF Gomma Capacity
MERCEDES Specification
f $ \ Total
E F’ e . Weight  11-00kg
© E£2
P10.4838 Operation 50b
Pressure -0 bar
& | Contitech 4838 NP03 ? Operation
o . 360 mm
g Firestone Space
& | Dunlop M16 X 1.5 Assembly
2 .
& | Phoenix Height ~ 520 MM
§ Goodyear Loading 2700 K
& | CF Gomma Capacity 00Kg

26




s |

E

P10.4838.C21

MERCEDES Specification
Total
e i
E ! o155 @ 220 W6|ght 8.80 kg
© E
P10.4838 Operation 50b
| Pressure - bar
& | Contitech 4838 NP21 g f? Operation
o ‘ 360 mm
g Firestone ‘ Space
o ‘
© | Dunlop ! e ) Assembl
$ - ‘ 8 M16 x 1.5 ' Y 340 mm
ec  Phoenix U ‘ U Height
|
2 Goodyear Loading 2600 K
& | CF Gomma Capacity g
MERCEDES Specification
[ ir \ Total
E : ? 155 @ 220 Weight 10.00 kg
=] E .
P10.4838 Operation 5.0 bar
Pressure ’
& | Contitech 4838 NP22 ° o Operation
[T ° 360 mm
£ Firestone i Space
1 T
® | Dunlop | Py A bl
® . ‘ - M24 x 1.5 M16 x 1.5 Sse.m Y 340 mm
oc | Phoenix 9 ! 9 Height
§ Goodyear ‘ Loading 2600 K
& | CF Gomma Capacity g
MERCEDES Specification
< I%' 7 Total
= é ! h 0155 5230 Weight 1100k
o Ega
Operation
P10.4838
Pressure 5.0 bar
& | Contitech 4838 NP23 ° ' Operation
o . ” 360 mm
g Firestone i Space
1)
® ' Dunlop i 0 Assembly
= 2 M16 x 1.5
2 Phoenix 9 ! U Height 340 mm
2 Goodyear Loading 2700 K
& | CF Gomma Capacity Y
MERCEDES 0260 Specification
— Total
= f | S Weight ~ 3-60kg
(=) 2155
Egm% Operation 50b
P10.4838 Pressure .0 bar
& | Contitech 4838 N1 Operation
o 360 mm
g Firestone Space
@ | Dunlop Assembly
= M24 x 1.5
& | Phoenix Height ~ 520 MM
§ Goodyear Loading 2600 K
& | CF Gomma Capacity ~ 2900Kg

27




= ah

P10.4881.C

BPW Specification
Total
E @311 Weight 16.50 kg
(o] <« 210 12x M16 )
Operation
5.0 bar
‘ ﬁ “’I | Pressure
@ | Contitech 4881 MB = _Tbefe Operation
o g 18 2989 380 mm
€ | Firestone 1T 66D-7.0 | — Space
3 | Dunlop D14 B37 M22x 15 70 Assembly 320 mm
& | Phoenix 1DK 32K e 120 Height
% Goodyear 1R14-724 o2 Loading
e : 3200 Kg
© CF Gomma Capacity
BPW Specification
0256 Total
E . 231 20 Welght 12.50 kg
=] ' « 210
Egg ik Operation 50b
P10.4881 \ R ’Fﬂ\ Pressure o ar
@ | Contitech 4881 MB - ? $Lbd 73 Operation
g Firestone 1T 66D-7.0 | B o Space mm
E Dunlop D14 B44 22X 15 Assembly 320 mm
& | Phoenix 1DK 32 K 2 12x M1 Height
4 Goodyear 1R14-757 - Loading
o . 3200 Kg
o CF Gomma Capacity
BPW Specification
Total
= \ et weight 65049
o -« @ 190 _
Esa Operation
P10.4881 ‘ \ LOI Pressure 5.0 bar
g Contitech 4881 NP02 ! 8 T j‘*’ - Operation 380
§ Firestone 1T66D-7.0 | Space mm
1) 1
% Dunlop D14 U37 ‘ o2 15 o M2 M16 Assembly 220 mm
ec | Phoenix 1DK32K Height
9 Goodyear 1R 14-701 Loading
e ; 3200 Kg
o | CF Gomma Capacity
MAN Specification
@259 Total
o @170 .
Operation 50b
PE Pressure - bar
@ | Contitech 4882 N1 P05 : i Operation
o ‘ 280 mm
5 Firestone ‘ Space
:q'_: Dunlop ‘ g s Assembly 280
g Phoenix /u M16 x 1.5 . M18x2 H6|ght mm
4 Goodyear Loading
(] : 1800 Kg
o CF Gomma Capacity

28




s |

E

P10.4882.S502

MAN 220 Specification
Total
Z # Weight ~ 8-50kg
o
lE Operation 50b
P10.4882 Pressure - bar
& | Contitech 4882 N1 P02 ! 2 Operation
o . | 280 mm
€ | Firestone ! Space
1)
3 unop D10 UO1 | — Assembly
ec | Phoenix ! Height
4 Goodyear 1R10-702 \ Loading
e C . 1800 Kg
& | CF Gomma 21308 apacity
MAN Specification
Total
= Weight ~ 10-50kg
o @ 200 .
D Operation 50b
EE= Pressure o bar
P10.4883
& | Contitech 4883 N1 P05 Operation
[T - 280 mm
£ | Firestone | Space
® ‘
8 Dunlop | Assembly 280
g Phoenix ! \_/ M16x 1.5 Moz Height mm
§ Goodyear / Loading 2000 K
& | CF Gomma Capacity ~ 2000Kg
MAN Specification
s Total 8.50 k
@ 259 H .
o ‘T’ Weight g
o s .
P Operation 50b
. | Pressure o bar
@ | Contitech 4883 N1 P02 | . Bt L Operation
g Firestone ! | Space mm
8 | Dunlop D11 U47 | wiexisl [ Assembly
& | Phoenix \ Height
2 Goodyear 1R11-804 L J Loading
& | CF Gomma Capacity  2100Kg
MAN Specification
@259 Total
(=) @ 200 .
D ™ Operation 50b
Eﬁm‘: Pressure - bar
P10.4884 .
& | Contitech 4884 N1 P06 s Operation
o 280 mm
£ | Firestone | Space
:a'_: Dunlop ‘ 8 Assembly 280
& | Phoenix ‘ /V M6 15 MiBx2 | Height mm
§ Goodyear Loading 1 ¢
& | CF Gomma Capacity 1000 K0

29




s |

E

P10.4884.S502

MAN Specification
Total
E ij 259 Weight 8.50 kg
c >
E£2 >0 Operation
P10.4884 5.0 bar
| | Pressure
| Contiech 4884 N1 P02 ‘ g 8t L Operation
g Firestone i ‘ Space mm
8 | Dunlop D11U48 ‘ wiexts! [T Assembly
2 Phoenix | Height 410 mm
) L J
o | Goodyear 1R11-820 ———— | v Loadin
e 9 2100 Kg
© CF Gomma 2200 ] Capacity
RENAULT H Specification
i T
il @287 otal
s } : g ! , 13.00 kg
= P 60 Weight
o EZ2 -
P10.4911 - 9230, Operation
5.0 bar
Pressure
§Contitech 4911 NP03 ‘ @J Operation .
£ | Firestone \ @12 Space mm
5D nlop D13B41 | j e
o Du M16X1.5 Assembl
g \ v, y
g Phoenix i M16x1.5 M24X1.5 Height 350 mm
§ Goodyear 1R13-714 m £ ' Loading
& | CF Gomma Capacity 2750 Kg
RENAULT “‘*;m Specification
s |2 ﬂ"h i 104 Total k
= 7 | N @287 Weight ~ 9-90kg
(=) @ 160 0 .
Bea PEration 5 1 par
P10.4911 — Pressure
§ Contitech 4911 NP02 ! . Operation 23
£ | Firestone | N Space > mm
E Dunlop ! okt M16 x 1.5 Assembly
& | Phoenix | Mi6x15  M24x15 Height 350 mm
2 Goodyear Loading
(] ; 2750 Kg
o | CF Gomma Capacity
RENAULT Specification
Total
E @ 287 Weight ~ 14-00kg
© @230
Operation
Pressure 5.0 bar
§ Contitech 4912 NPO7 | Operation
<  Firestone 1T19L-14 \ Space 335 mm
5 | Dunlop D13 B40 | M1 pssembl
2 . \/ | \ <= \mi6x15 S 410 mm
o | Phoenix 1 DK 28 F-4 M16x15  M24x15 Height
§ Goodyear 1R13-711 m - Loading
e . 2700 Kg
o CF Gomma Capacity

30




=it

Air Springs

P10.4912.C10

RENAULT Specification
""""""""""""""""" ~ ]an—t Total
= Weight 1400 kg
o Es2 @ 287 o
plq.4slz 225+2 Operation 50b
) /\ Pressure o bar
@ | Contitech 4912 NP10 g * - ? Operation
o 8 \ | 335 mm
£  Firestone o . : Space
( g M16x1.5 M16x1.5
8 Dunlop \ \J g M24x15 Assembly 2410 mm
2 Phoenix Height
% | Goodyear & : oadng ook
& | CF Gomma Capacity g
P10.4912.S08
RENAULT g2 Specification
E 4 | A @287 Weight ~ 9-70kg
o P @ 160 Onerati
Eza peration
P10.4912 Pressure 5.0 bar
@ | Contitech 4912 NP08 | i Operation
[T | 8 335 mm
£ | Firestone . Space
1
Dunlo D13 U40 |
% u p . V16 X 15 M16 x 1.5 Assgmbly 210 mm
e | Phoenix | M16x15  M24x15 Height
§ Goodyear 1R13-713 Loading 2700k
& | CF Gomma Capacity g
P10.4913.C02
SCANIA Specification
. ! kil o 287 Total
2 | Weight ~ 13:00kg
° !IED%% o Operation
; P 5.0 bar
| ressure
& | Contitech 4913 NP02 8 = Operation 350
£ | Firestone 1T19L-14 Space mm
@ | Dunlop D14 B42 @15 -M16 Assembly
‘S - . 350 mm
ec  Phoenix 1D 28 H-16 Height
2 Goodyear 1R14-753 Loading 2700 K
& | CF Gomma Capacity Y
P10.4913.S04
SCANIA e Specification
0 267 Total
§ | Weight ~ 8-50kg
I=E’§,?., i
P10.4913 N (;peratlon 5.0 bar
| ressure
@ | Contitech 4913 NPO4 | . Operation
[T i © 350 mm
£ | Firestone | Space
@ | Dunlop D14 U42 i Assembly
S - . 350 mm
o | Phoenix 1D 28 H-16 NP i Height
§ Goodyear 1R-14-755 Loading Y00 K
& | CF Gomma Capacity 00Kg

31




i

P10.4940.S02

@ 248

BPW Specification
Total
@ 259
E Weight 4.50 kg
o 9135 |
EE2 Operation
P10.4940
| Pressure 5.0 bar
& | Contitech 4940 NP02 | 9 Operation
2E | ¢ 325 mm
£ Firestone i Space
E Dunlop D11 U42 | M16 Assembly
& | Phoenix | Miex1s M2 Height 295 mm
§ Goodyear 1R11-799 Loading
e ; 2100 Kg
o CF Gomma Capacity
P10.4941.C
BPW Specification
Total
o Exa W12 M18x 1.5 M16x1.56g
P10.4941 Operation 50b
Pressure o bar
§ Contitech 4941 M Operation
g Firestone Etl Space 325 mm
E Dunlop 3 2205 Assembly :
& | Phoenix Height 310 mm
2 Goodyear Loading
e : 2100 Kg
& | CF Gomma Capacity
P10.4941.S02
BPW Specification
Total
E @259 Weight 5.00 kg
o = « 913
EE2 ‘ Operation
P10.4941
‘ Pressure 5.0 bar
§ Contitech 4941 NP02 | 8 : Operation
£ | Firestone | Space szomm
o |
8 | Dunlop D11 U45 \ Wex1s M2 M16 Assembly 310
& | Phoenix | Height mm
§ Goodyear 1R11802 Loading
o . 2100Kg
& | CF Gomma Capacity
P10.4942.S02
BPW 2300 Specification
Total
E | @311 Weight 8.50 kg
& 210 @188
Eg,,a_ ‘ Operation
"'0-‘4942 N Pressure 00 "
@ | Contitech 4942 NP02 ‘ 5 o : Operation
o \ \ 9 380 mm
g Firestone ‘ | “ Space
:q'_; Dunlop ‘ o Caxhiz M16 Assembly 350
2 | Phoenix | - Height ~ 520 MM
) ﬁ
@ Goodyear Loading
e : 3250 Kg
o CF Gomma Capacity

32




==

s |

Air Springs

P10.4960.S02

BPW o2t Specification
Total
E 2259 W6|ght 5.00 kg
g 9135 |
— - Operation 5.0 bar
P10.4960 Pressure
: | .
@ | Contitech 4960 NP02 | Operation
. ‘ 8 perat 325 mm
g Firestone | Space
@ | Dunlop D11 U44 | M16 | Assembly
s _ [ M12x 1.5 . 295 mm
o= Phoenix 1 DK 21 K-3 M20 x 1.5 Height
2 Goodyear 1R11-801 Loading 2100K
& | CF Gomma Capacity g
P10.4961.S02
BPW 208 Specification
Total
E @ 259 Weight 4.70 kg
(=) | @135 .
[ Operation 5.0 bar
P10.4961 "’I Pressure
& | Contitech 4961 NP02 ! T Operation
o . g 325 mm
£ Firestone ‘ N Space
E Dunlop D11 U43 | M16 Assembly 205 mim
g Phoenix i 2xM12 - M22x1.5 He|ght
% | Goodyear 1R11-800 Loading
o Caacity 2100 Kg
o CF Gomma apacity
P10.4962.S02
BPW 5248 Specification
Total
E @ 259 Welght 5.10 kg
(=) | @135 0 .
Emg.,?., peration 5.0 bar
P10.4962 Pressure
@ | Contitech 4962 NP02 ‘ Operation
] . | N berat 325 mm
g Firestone ‘ B Space
E Dunlop D11U46 | M16 Assembly
S - | Heiaht 310 mm
o= | Phoenix elg
2 Goodyear 1R11-803 Loading 2100 K
& | CF Gomma Capacity Y
P10.6199.C
SCANIA Specification
Total
s 0229 Weight ~ 10-50kg
g P‘ A»
EZ£2 i
Protise : Operation 5.0 bar
i o ‘ Pressure
@ | Contitech 6199 m.K -1 Operation
8 . ‘ Ri g 335 mm
g Firestone pace
@ | Dunlop ‘ Assembly
® ‘ 2 “oi575 . 370
& | Phoenix | : 01575 Height mm
4 Goodyear H Loading
o Capaci 2450 Kg
& | CF Gomma I apacity

33




s |

E

P10.6199.S

SCANIA Specification
Total
E @229 W6|ght 5.00 kg
g e 80
A
pﬁg'i‘;; : Operation
‘ ‘ Pressure 5.0 bar
§Contitech 6199 M ‘ g o - Operation .
g Firestone ! o122 Space
E Dunlop ! Assembly 370
2 Phoenix ‘ 01575 Height mm
2 Goodyear H:‘:'é Loading
& | CF Gomma 21472, Capacity  24°0Kg
P10.6200.C
SCANIA Specification
Total
@229
F" Operation
Eza ;
PlUATZI]I] ‘ Pressure 5.0 bar
@ | Contitech 6200 m.K L | 1 Operation
ol i e} 340 mm
£ Firestone | Space
E Dunlop ! ; DRI Assembly 100
& | Phoenix | ) ' Height mm
§ Goodyear ﬂ Loading 2600 K
& | CF Gomma Capacity g
P10.6200.S
SCANIA Specification
Total
s 0229 : 5.00 kg
g I: 8 Weight
EE2 .
P10.6200 ‘ Operation 5.0 bar
‘ ‘ Pressure
% | Contitech 6200 M | g . Operation
8 ‘ e} @12x2 340 mm
g Firestone ! Space
E Dunlop ! Assembly 100
& | Phoenix ‘ 01578 Height mm
2 Goodyear H:‘:é Loading
& | CF Gomma <212, Capacity  2100Kg
P10.6416.C
VOLVO I 'Eil‘ "m |i"i'} Specification
Total
= ;;,,,,,,,,,,,,,,Jllﬂ!!ﬂlﬂl,,‘ rrrrrrrrrrrrrr a0 Weight 200 kg
= ! - @170,
| = Operation
EZ2
P10.6416 d Pressure 5.0 bar
& | Contitech 6416 N P Operation
o 290 mm
g Firestone Space
@ | Dunlop Mi4 Assembly
(™=
& | Phoenix Height ~ S10mmM
§ Goodyear Loading 1850 K
& | CF Gomma i Capacity Y

34




== ki
E Air Springs

P10.6416.S

VOLVO X Specification
@ @ Total
= Weight ~ 6:30kg
e : @ 229
‘ Operation 50b
Eﬁ% Pressure - bar
@ | Contitech 6416 N | g Operation
o . ! 290 mm
g Firestone ‘ Space
E Dunlop ‘ Assembly 310
. mm
2 Phoenix ‘ M?‘éi]g Height
\n — H
% | Goodyear Loading e kg
& | CF Gomma Capacity
P10.6418.C
VOLVO Specification
Total
E Weight 8.50 kg
o « 2170,
! Operation
! Pp 5.0 bar
= ressure
@ | Contitech 6418 N plosas Lo 5 Operation
2 | Firestone Space 300 mm
o ‘ M24 x 1.5
8 | Dunlop | i M16 x 1.5 M14 Assembly 260 mm
2 | Phoenix | ’ Height
§ Goodyear S5, Loading 1900 K
& | CF Gomma Capacity 1 900Kg
P10.6418.S
VOLVO Specification
Total
= Weight ~ 4-50kg
o
Operation
[ 5.0 bar
P10.6418 Pressure
@ | Contitech 6418 N s Operation
o ! 300 mm
g Firestone | Space
1) '
o Dunlop M24 x 1.5 Assembly
o .
g Phosnix ‘ M16x 1.5 Height 260 mm
w .
« | Goodyear \':‘:'.L Loadin
e eime, C 0 1900 Kg
o CF Gomma apacity
P10.6420.C
VOLVO Specification
Total
E Weight 5.70 kg
° ey Opera
X1, peration
E_g_,a_ - My Pressure 5.0 bar
6420 @
& | Contitech 6420 N . 5 Operation
o g o Space 300 mm
g Firestone NI p
- ~—L—
% Dunlo? ; 98 51665 Assgmbly 260 mm
oc  Phoenix 228 Height
§ Goodyear J Loading 1500 K
& | CF Gomma Capacity  1°00Kg

35




P10.6420.S
VOLVO Specification
Total
2 Weight ~ 160kg
° s Opert
Bza x1.5 69 peration 5.0 bar
P10.6420 S Pressure
& | Contitech 6420 N g ~ Operation
o o ~ 320 mm
£ | Firestone NI % Space
e ~——"
® ' Dunlop 98 Assembl
s Y 275 mm
ec | Phoenix 2228 Height
0 h .
g Goodyear 51505 Loadn.]g 2200 kg
© CF Gomma Capacity
P10.644.R
IKARUS 2210 Specification
< [N . Tol
& | MERCEDES \ Weight 170
o \
NEOPLAN Be= Operation
P10.644 5.0 bar
SCANIA ‘ Pressure
g Contitech 644 N i § Operation 320
§ Firestone 1R1A 390 295 | Space mm
; Dunlop D11 S01 ‘ Assembl
g | Y 275 mm
& | Phoenix 1E21 | Height
% | Goodyear 8017 ‘ Loading
e : 2200 Kg
o CF Gomma 1S 285-24 « 01308 Capacity
P10.661.R
IKARUS o= Specification
KASSBOHRER | Total
E MAN i Weight 2.00 kg
o
MERCEDES l::‘ Operation
=2 P 5.0 bar
NEOPLAN P10.661 ressure
g Contitech 661N ‘ ) Operation
o . | ° 335 mm
£ | Firestone 1R1C 390 310 | Space
@ | Dunlop D12 S02 ‘ Assembl
S ‘ . Y 275 mm
ec | Phoenix 1E25 ‘ Height
9 Goodyear 8018 Loading
e 01508 o 2500 Kg
& | CF Gomma 1531038 Capacity
P10.662.R
DAF @ 300 SpeCification
IKARUS DU 5 .5 M Total
= Veco | Weight ~ 250kg
o I
MAN ‘ Operation
P 5.0 bar
NEOPLAN Bea ressure
g Contitech 662 N Plu"ssz Operation 390
§ Firestone 1R1D 355 355 \ 8 Space mm
@ | Dunlop D13 S01 ‘ Assembl
$ Y 315 mm
oc  Phoenix 1E32 Height
% | Goodyear 9007 Loading
e W 3250Kg
© | CF Gomma 1S 360-30 Capacity

36




s |

E Air Springs

P10.673.R

DAF Specification
s IVECO Total 1.90k
i | MERCEDES Weight =70
VOLVO Operation
Pressure 5.0 bar
& | Contitech 673N Operation
o . 325 mm
€ | Firestone 1R1A 370 285 Space
@ | Dunlop D11 S06 Assembly
S : . 310 mm
e | Phoenix 1F21A Height
4 Goodyear 9051 Loading
(] : 2200 Kg
& | CF Gomma 1SC 285-22 Capacity
P10.713.R
VOLVO Specification
Total
o 0 .
peration
Pressure 5.0 bar
& | Contitech 713N Operation
o . 325 mm
& | Firestone Space
g Dunlop A bl
“ ssembly
¢ | Phoenix Height 325 mm
§ Goodyear Loading 2000 K
& | CF Gomma Capacity ~ 2000Kg
P10.720.R
MAN a0 Specification
| MERCEDES ot ok
g NEOPLAN ‘ Weight LUkg
\ .
VOLVO Bza Operation ¢ o
P10.720 Pressure
&% | Contitech 720N Operation 325 mm
§ Firestone 1R2A 460 295 Space
@ | Dunlop D12 S04 Assembly
S - . 340 mm
g Phoenix 1F21 Height
9 Goodyear 9008 Loading
e . 2150 Kg
© CF Gomma 1SC 290-30 Capacity
P10.724.C02
GIGANT Specification
mu | mu Total
= F X o259 Weight 1050k
o E&?‘u « 180
P10.724 Operation 50b
Pressure - bar
@ | Contitech 724 P02 : Operation
o . Q 325 mm
£ | Firestone Space
:q'_; Dunlop M22 x 1.5 Assembly 310
g Phoenix 2xM12x15 Height mm
§ Goodyear Loading 2000 K
& | CF Gomma Capacity  2000Kg

37




s |

E Air Springs

P10.724.C03

GIGANT Specification
Total 1050 k
@259 H .
E g Weight g
=] P10.724 « 10, 2 200 )
Operation 50b
”I Pressure o bar
& | Contitech 724 NPO3 ° Q Operation
ol © ] S 325 mm
5 Firestone pace
E Dunlop . M22 x 1.5 16x 1.5 Assembly 310
& | Phoenix ! Bl | f2xmzxas Height mm
2 Goodyear Loading 2000 K
& | CF Gomma ' Capacity g
P10.724.S01
GIGANT Specification
s Total 650k
@ 259 : .50 kg
g 1 e Weight
E.,g.ma., Operation
P10.724 : : Pressure 5.0 bar
J v QI
@ | Contitech 724 NPO1 —t— ﬂ* Operation
2 mm
§ Firestone | b Space
E Dunlop M22x 1.5 Assembly 310 mm
g Phoenix 2xM12 Height
§ Goodyear Loading 2000 K
& | CF Gomma Capacity g
P10.725.C02
GIGANT Specification
2 311 Total
E 220 Weight 12.50kg
(=) @ 250
Operation
\ - Pressure 5.0 bar
@ | Contitech 725 NP02 - Operation
8 & 390 mm
£ | Firestone 17 66F-10.8 | Space
1)
© | Dunlop M22x 1.5 Assembly
S . 350 mm
2 Phoenix w2 M20 Height
2 Goodyear Loading 2300 K
& | CF Gomma 17 360 45 Capacity g
P10.725.C03
GIGANT Specification
S m =+ m R o, Total
E 220 Welght 12.50 kg
o Egmg @ 250
P10.725 Operation 50b
\ Pressure - bar
@ | Contitech 725 NPO3 3 —- ﬁﬁ Operation
& mm
§ Firestone 17 66F - 10.8 ' | Space
& | Dunlo D14 B43 ! S o . Assembl
< p | R o M22 x 1.5 o y 350 mm
e | Phoenix , eight
4 Goodyear 1R14-814 =] Loading
(] =td 1 Capaci 3300 Kg
& | CF Gomma 1TC 360-45 | apacity

38




P10.725.S01
GIGANT o500 Specification
Total
é Mﬁ 5311 WE|ght 7.00 kg
220
F’ - > Operation
[=:33]
P10.725 © Pressure 5.0 bar
@ | Contitech 725 NPO1 | . S == Operation
o . © IS 390 mm
€ | Firestone | | Space
E Dunlop | Assembly 350 mm
& | Phoenix | Height
2 Goodyear Loading 2300 K
S CFGomma  17C 36045 Lo Capacity :
P10.726.S01
GIGANT 300 Specification
m m Total
E ! 2311 Welght 1.50 kg
o : 220
E R Operation
P10.726 5.0 bar
| © “’i Pressure
Yo
& | Contitech 726 MP 01 | ° J* v Operation 390
© o
§ Firestone 1717 D-4.3 ! | S Space mm
5 | Dunlop D11 U31 | Assembly
& | Phoenix 1DK 21K | Height
§ Goodyear | Loading
& | CF Gomma 1711 Capacity 2200 Kg
P10.727.R
DAF @ 300 Specification
MAN o Total
s : - 270k
i | MERCEDES | Weight ’
VAN HOOL Bz Operation ¢ o
VOLVO P10.727 Pressure
&% | Contitech 121N Operation 390
§ Firestone 1R2D 460 360 Space mm
@ | Dunlop D13 S04 Assembly
< : . 350 mm
ec | Phoenix 1F 32A Height
9 Goodyear 8117 Loading
e = 3200Kg
© CF Gomma 1SC 360 34 Capacity
P10.737.R
MERCEDES Specification
s MENARINI Total 2.38 ki
& | PEGASO Weight =4
Operati
peration 5.0 bar
Pressure
& | Contitech 137N Operation 360 mm
§ Firestone 1R 1A 480-330 Space
@ | Dunlop D13S06 Assembly
B . . 345 mm
oc  Phoenix 1F 26 Height
4 Goodyear Loading
° = 2750 Kg
& | CF Gomma 1S 320-23 Capacity

39




==k
E Air Springs

P10.752.C

GIGANT Specification
@311 Total
E Eg 220 Weight 17.50kg
° P10.752 .
Operation 50b
‘ mI Pressure o bar
& | Contitech 752N - - Operation
o . S 390 mm
€ | Firestone ‘ Space
E Dunlop M2 x 1.5 Assembly 360
& | Phoenix Height mm
2 Goodyear Loading 2200 K
& | CF Gomma Capacity g
P10.752.S01
GIGANT - 2300 . Specification
Total
E | 2311 Weight 950 kg
(=) I:f 220 0 .
Es2 peration
P10.752 o “’i Pressure 5.0 bar
Yo
& | Contitech 752 NPO1 J* ; Operation
o 5 390 mm
< | Firestone ‘ Space
g Dunlop ‘ A bl
u“ ssembly
& | Phoenix Height ~ 560 mmM
§ Goodyear Loading 3200 K
& | CF Gomma Capacity g
P10.757.R
MERCEDES Specification
Total
= Weight ~ 2-10kg
° 0
peration
Pressure 5.0 bar
&% | Contitech 757N Operation
o .. 335 mm
€ | Firestone 1R2A 380-305 Space
8 | Dunlop D12S20 Assembly
© . . 290 mm
ec | Phoenix 1F26C Height
2 Goodyear Loading 2560 K
& | CF Gomma Capacity Y
P10.7803.C
VOLVO Specification
Total
= u Weight 980k
o P 0
200 peration
EZ=2
P10.7803 Pressure 5.0 bar
@ | Contitech 7803 N v 0 Operation
o : 290 mm
£ | Firestone i Space
@ | Dunlop \ 8 mi Assembly
= ' ®
& | Phoenix % Height 310 ™™
§ Goodyear Zos Loading 2000 K
& | CF Gomma Capacity Y

40




=k
E

P10.7803.S

VOLVO o048 Specification
50,
™ Total
E @ $ Weight 6.00 kg
w @229
‘ Operation
| Pressure 5.0 bar
. EE2
& | Contitech 7803 N P10.7803 Operation
o .. e 330 mm
€ | Firestone 3 Space
1)
% Dunlo? 24 %15 Assgmbly 300 mm
g Phoenix M16x 1.5 Height
2 Goodyear Loading 2100 K
& | CF Gomma Capacity g
P10.7804.C
VOLVO Specification
s Total 670k
= Weight 1UKg
° NiSES Operati
x1.5 69 eration
M s PFr)essure 5.0 bar
& | Contitech 7804 N = Operation
o .. b 280 mm
£ | Firestone g Space
-
® | Dunlo “ Assembl
8 p e % 2195 Heiah Y 240 mm
ec | Phoenix 0228 eight
§ Goodyear Loading 1900 K
& | CF Gomma Capacity g
P10.7804.S
VOLVO Specification
Total 100k
= Weight ~ 400kg
© M16x1.5 6H .
M24x1.5 6g Operation 50b
Pressure - bar
& | Contitech 7804 N Operation
o . 280 mm
€ | Firestone Space
1)
® ' Dunlop Assembly
(™=
& | Phoenix 0228 Height 240 mm
2 Goodyear Loading 1900 K
& | CF Gomma Capacity Y
P10.809.ST
MAN — Specification
@ 220
| | Total
E ‘ @116 Welght 3.00 kg
o | -
EE2 Operation
P10.809 Pressure 5.0 bar
& | Contitech 809 NT ‘ . P Operation 320
g mm
2 | Firestone 1715 L6 | Space
@ | Dunlop ‘ Assembly
- ! . 325
& | Phoenix 1D 238 M10 Height mm
§ Goodyear 1R12-709 \ / Loading
& | CF Gomma 17-320 SP & Capacity Y

41




s |

E Air Springs

P10.809.STB
MAN o250 Specification
< PEGASO R Total
m ?—‘—\ @ 116 Weight 148k
© |
Operatio
EZ2 peration 5.0 bar
P10.809 Pressure
& | Contitech 809 NTB ‘ ) P Operation 120
§ Firestone 1T 16 L-6 ‘ N Space mm
8 | Dunlop D12 U34 ‘ Assembly
© . . 325 mm
ec | Phoenix 1D 23B-2 M10 Height
9 Goodyear 1R12-709 Loading
(=] : 2250 Kg
©  CF Gomma 1T 330 SB Capacity
P10.810.C
DAF Specification
ROR Total
o
SCANIA Operation
5.0 bar
VOLVO Pressure
& | Contitech 810 MB Operation 370
§ Firestone 1T 19L-7 Space mm
:é Dunlop SP 2067 Assembly
D - . 340 mm
e | Phoenix 1D28A-2 Height
% | Goodyear 1R14-059 Loading
(] : 2900 Kg
o CF Gomma 1T19 E-1 Capacity
P10.810.CP
GRANING Specification
HENDRICKSON Total
o
Operation
P 5.0 bar
ressure
& | Contitech 810 MB PP Operation
o . 370 mm
&  Firestone 4xM12x1.75 Space
®
8 Dunlop Assembly 340
& | Phoenix Height mm
9 Goodyear Loading
(] ‘ : 2900 Kg
o  CF Gomma i Capacity
P10.810.S
ROR 0265 Specification
SAF Total
E @ 287 Welght 4.80 kg
(=} M22 x 1.5 .
Operation
P 5.0 bar
ressure
@ | Contitech 810 MB/0 Pl0.810 i Operation
2 | Firestone 171917 ‘ ¢ Space mm
:q'_; Dunlop | Assembly 340
) . . mm
= Phoenix 1 DK 28A ‘ M2 Height
o | Goodyear [ Loading
(] ; 2900 Kg
o CF Gomma 1T19 E-1 Capacity

42




s |

E Air Springs

P10.810.ST

MAN 020 Specification
= i Total 280k
| : .80 kg
g I: 7 158 Weight
E=Za Operation
Pm'fm Pressure 5.0 bar
& | Contitech 810 NT ‘ N Q Operation 370
§ Firestone 1T 19L-7 ‘ Space mm
@ | Dunlop D14 U45 ‘ Assembl
< ‘ . Y 340 mm
ec | Phoenix 1DK 28A | M12 x 1.25 Height
& | Goodyear 1R14-714 w Loading
S 2 Capaci 2900 Kg
o | CF Gomma 1TIOE1S i apacity
P10.810.STB
MAN B 265 Specification
= #‘ﬁ Total 130k
w | 2158 Weight ~ 30kg
EE2 Operation
PIT.SIO Pressure 5.0 bar
& | Contitech 810 NTB ! Q Operation
o . 370 mm
5 Firestone 1T19L-7 Space
@ | Dunlop Assembl
s Y 340 mm
g Phoenix 1DK 28 A-4 M12 x 1.25 Height
9 Goodyear 1R14-713 Loading
S : 2900 Kg
o CF Gomma 1T19 E-1 Capacity
P10.811.C
DAF Specification
RENAULT Total
@ 287
E SAF @ 260 Weight 13.30 kg
° 0
peration
Y Pressure 5.0 bar
& | Contitech 811 MB Operation 370
§ Firestone 1T 19F-11 v Space mm
@ | Dunlop D13 B34 Assembl
s Y 420 mm
& | Phoenix 3XM10X 1.25 Height
& | Goodyear 1R14-718 M22x1.5 Loading
e C . 2900 Kg
& | CF Gomma 1T19E-2 apacity
P10.811.C2
SAF Specification
i Total
E f Weight 14.00 kg
o Eaa 286 Operati
i M22x1. peration
qu.sll . % i | == Pressure 5.0 bar
| 2 1
& | Contitech 811 MB 1 < 1 Operation
o . S % 370 mm
& Firestone S Space
0 4xM12£g>< {
© Dunlop N ] Assembl
° g 158.8 oy 420 mm
g | Phoenix i Height
2 Goodyear Loading 2900 K
& | CF Gomma Capacity g

43




==

Air Springs

P10.811.CP02

SAF Specification
i
s ~> Total
E Weight 10.80 kg
o 2286
|=E, Operation
PIOWSI 1 4 Pressure 5.0 bar
g Contitech 811 MB E C’/ Operation
o . o 370 mm
g Firestone & Space
& | Dunlop ] Assembly
© . 158.8 . 420 mm
oc  Phoenix 4xM126g To% Height
2 Goodyear Loading
&5 | CF Gomma Capacity 2900 kg
P10.811.S
SAF 0265 Specification
Total
E a 287 Welght 5.50 kg
°© |
Operation
Ega Pressure 5.0 bar
@ | Contitech 811 MB/0 P10.811 2 Operation ,_
g Firestone 1T19F-11 ‘ Space
E Dunlop SP 2066 Assembly
M22 x 1.5 .
& | Phoenix 1D 28 B-2 | Height ~ +20mmM
§ Goodyear Loading 2900 K
& | CF Gomma 1T 19 E-2 Capacity g
P10.811.51
DAF = Specification
SAF *E%ﬁ Total
E ‘ @ 287 Weight 8.50 kg
(=) 210 @ 158 )
e A [P 0w
. NG gi
g Contitech 811 M ! 2 — " 7] mf Q Operation
o .. 3 ~ 370 mm
< | Firestone \ ‘ Space
2 D | i i 2xM12
@ ' Uuniop Assembl
;q:'; — ‘ M22x 1.5 M12 x 1.25 Heighty 420 mm
2 Goodyear Loading
& | CF Gomma Capacity 2900kg
P10.811.S2
SAF = Specification
M% Total
E B @ 287 Weight 6.50 kg
(=) ‘ M22 x 1.5 D 158 .
Operation
pﬁ Pressure 5.0 bar
@ | Contitech 811 M | g 8 Operation
o 370 mm
5 Firestone Space
@ | Dunlop Assembl
S : M12 x 1.25 2mbly 420 mm
oc | Phoenix 4xM12 Height
§ Goodyear Loading 2900 K
& | CF Gomma Capacity ~ 2900Kg

44




P10.811.ST
KASSBOHRER 265 Specification
< AN F? | s] e
& | SAF | . 2158 Weight 420k
EE2 Operation
P10.811 Pressure >0 bar
g Contitech 811 NT ! o O Operation
§ Firestone 1T 19L-10 ‘ Space 370 mm
@ | Dunlop D13 A02 | Assembly
s : ! . 420 mm
o= Phoenix 1D28B ‘ M12 x 1.25 Height
2 Goodyear 1R14-715 \ ‘ / Loading
& | CF Gomma ‘ Capacity  2°00Kg
P10.811.STB
SAF L e L Specification
s f i ‘ Total 180k
Weight Y
ucd ‘ @ 158 eg
Es=2 Operation
PlT.Bll Pressure 5.0 bar
8 Contitech 811 NTB ! © O Operation
o | 8 370 mm
g Firestone 1T 19L-10 ! Space
; Dunlop D14 U49 ‘ Assemb|y
S : ; . 420 mm
e | Phoenix 1DK 28 B4 | M12 x 1.25 Height
§ Goodyear 1R 14-739 Loading ‘
& | CF Gomma Capacity 2900 Kg
P10.813.C
FREHAUF Specification
s GRANNING Total 1350k
@ 260 . .
i | HENDRICKSON Weight ¢
ROR Operation
|=’ Pressure >0 D"
SAF Es2
g Contitech 813 MB P10.813 Operation 360 mm
§ Firestone 1T19L-11 Space
@ | Dunlop D13B19 Assembly
s : . 420 mm
ec | Phoenix 1D28B-2 Height
2 Goodyear Loading 2000 K
S | CF Gomma 1T19E-2 Capacity 9
P10.813.C2
SAF Specification
Total
2 .
E « o226 @ 260 Weight ~ 13-50kg
o 0 i
peration
Pressure 5.0 bar
§ Firestone 1T19L11 Space mm
:ﬂ:’ Dunlop D13 B19 Assemb|y
& | Phoenix 1D 28 B-2 MEHE Height ~ +20mm
§ Goodyear Loading 2900 K
& | CF Gomma 1T19R2 Capacity g




s |

E Air Springs

P10.813.CP

SAF Specification
Total 8,00k
@ 260 ; .
E Weight g
o
l: Operation
5 Pressure 5.0 bar
& | Contitech 813 MB PP. Operation 360
2 | Firestone 1T 15 MPW-9 Space mm
1)
® ' Dunlop Assembly
] . 420
& | Phoenix Height mm
2 Goodyear Loading 2900 K
& | CF Gomma Capacity g
P10.813.S
SAF 0265 Specification
Total
E @ 287 Weight 5.50 kg
(=} M22 x 1.5 .
Operation 50b
Pressure -0 bar
@ | Contitech 813 MB/0 Operation -
§ Firestone 1T19L-11 Space mm
E Dunlop D13 B02 Assembly 420 mim
& | Phoenix 1D 28B-5 X M2 Height
9 Goodyear 1R14-705 Loading
] ; 2900 Kg
o CF Gomma 1T19E-2 Capacity
P10.8185.CP
SCHMITZ Specification
Total 150k
= 0229 Weight ~ 7-90kg
(=) @ 260
Operation
Pressure 5.0 bar
& | Contitech 8185 K Operation
o .. 340 mm
€ | Firestone 1T 15 MPW-9 Space
1)
® ' Dunlop Assembly
. 2xM10 M22x 1.5
. 400
& | Phoenix Height mm
2 Goodyear Loading 2000 K
& | CF Gomma Capacity Y
P10.8185.S
SCHMITZ 248 Specification
s | Total 180k
@229 . )
= TR weight 480K
© | 2 116 Operati
peration
Egg Pressure 5.0 bar
P10.8185
& | Contitech 8185 ‘ Q Operation
o .. 8 340 mm
£ | Firestone 1T 15 MPW-9 ‘ Space
8 | Dunlop w 2 X 10 M22x 1.5 M12 Assembly 400 mm
2 Phoenix Height
§ Goodyear Loading 2400 K
& | CF Gomma Capacity g

46




= ah
E

P10.836.2C1

DAF Specification
| | Total
@ 259
E Mﬁ 155 WE|ght 9.70 kg
=) I:\ 150 @228
Operation
(=]
P10.836 /T\ Pressure 5.0 bar
@ | Contitech 836 M2 K1 CI 47 = 0 Operation 240
§ Firestone 1T 17AR-4.5 U ‘ Space mm
E Dunlop D13 U31 | 4 145 3xM10 M16 Assembly
o : 8 . 270 mm
ec | Phoenix 1 DF 25-13 i 2xM1Bx 15 Height
2 Goodyear 1R12-7111 i Loading
& | CF Gomma Capacity  2600Kg
P10.836.C1
DAF Specification
‘ ‘ Total
|
= L i I o Weight ~ 9-30kg
o !
|=E,§§?, Operation
P10.836 Pressure 5.0 bar
@ | Contitech 836 MK1 ) Operation
o . 340 mm
£ | Firestone 1T 17AR-4.5 Space
§ Dunlop D13 B32 Assembly 270 mm
& | Phoenix 1 DF 25-11 Height
§ Goodyear 1R12-712 Loading ‘
& | CF Gomma Capacity 2600 Kg
P10.836.C4
DAF Specification
@ 259
Total
°© 0
peration
Pressure 5.0 bar
& | Contitech 836 MB K4 Operation
[T 340 mm
€ | Firestone 1T 17AR-4.5 Space
E Dunlop Assembly 270 mm
& | Phoenix 1 DF 25-14 Height
2 Goodyear Loading
& | CF Gomma Capacity  2600Kg
P10.836.C6
DAF Specification
@ 259
I | 155 Total
E T‘EQSS{WMW 150 Weight 10.30kg
o P © 228 )
[S:55 Operation
P10.836 Pressure 5.0 bar
g | Contech 836 MB K6 g ® Operation
£ | Firestone 1T 17AR-4.5 U Space
:q:a Dunlop D13 B43 | 4 Assembly 270 mim
& | Phoenix 1 DF 25-15 ; Height
# | Goodyear 1R12-768 ! Loading ;
& | CF Gomma Capacity 2600 Kg

47




s |

E Air Springs

P10.836.C7

DAF Specification
@259
s Mﬁ 155 Total 0,30k
& | o Weight ~=Ukg
Operation
=
P10.836 ,‘,/T\ Pressure 5.0 bar
@ | Contitech 836 M K7 § 8 Yfi;— 2 Operation
§ Firestone 1T 17AR-4.5 ‘ Space mm
8 | Dunlop D13 B33 SRIPRREERT Assembly
& | Phoenix 1 DF 25-12 ' Height
2 Goodyear 1R12-723 Loading 2600 K
& | CF Gomma Capacity g
P10.836.S
DAF — Specification
Total
(=}
E Operation
P10.836 Pressure 5.0 bar
& | Contitech 838 M ‘ 2 Operation 340 mm
§ Firestone 1T17AR-4.5 | Space
@ | Dunlop D13 U32 | Assembly
.- | M16 x 1.5 .
& | Phoenix 1 DF 25-1 | X 3xM10 Height ~ 2/0MM
§ Goodyear 1R12-700 L ! J Loading
& | CF Gomma 1508 Capacity ~ 2800K0
P10.836.51
DAF Specification
Total
o
Operation
Esa Pressure 5.0 bar
@ | Contitech 836 MB P10.836 g Operation
§ Firestone 1T 17AR-4.5 l Space mm
'E Dunlop D12U21 : M16 x 1.5 Assembly 270 mm
2 | Phoenix 1 DF 254 | ' 3 xM10 Height
2 Goodyear 1R12-764 #% Loading
& | CF Gomma 23208 Capacity  2600Kg
P10.836.S2
DAF 0265 Specification
@ 259 Total
E Mﬁ _ 0239 Weight 4.30 kg
(=} .
Ega Operation
P10.836.52 & Pressure :
# | Contitech 836 M2 l g 0 Operation 340 mm
2 | Firestone 1T 17AR4.5 ! Space
:q'_; Dunlop D13 U31 ! Assembly
© . | . 270 mm
oc  Phoenix 1 DF 25-3 | Height
4 Goodyear 1R12-710 M16x1.5 Loadin
o 21508 g 2600 Kg
& | CF Gomma Capacity

48




P10.881.C
BPW Specification
] o Total
P10.881 i 12xM1e Operation 50b
‘“ ‘ YTI Pressure - bar
@ | Contitech 881 MB = 1‘”'3 41 Operation
2 | Firestone 17 66F-10.8 | R o3 Space mm
8 | Dunlop D14 B36 o2 15 < Assembly
& | Phoenix 1DK 32 M12 “=" Height
4 Goodyear 1R14-712 @256 Loading
o : 3300 Kg
o CF Gomma 1TC 360 45 Capacity
P10.881.CP
BPW Specification
1 | i 311 2250 Total
E ? i \ 210 Weight 13.50kg
o ) ’
Operation
\ - Pressure 5.0 bar
@ | Contitech 881 MB ; R Operation
2 | irestone 1T 66F-10.8 | S Space
E Dunlop D14 B41 M22 x 15 Assembly 350 mm
& | Phoenix 1DK 32 3 M2 Height
4 Goodyear 1R14-748 NN Loading
e - 3300 Kg
& | CF Gomma 17C 360-45 Capacity
P10.881.S
BPW . Specification
m ‘ m & 311 Total
E T Weight ~ 7-00kg
o) @190
‘ Operation 50b
Es2 Pressure - bar
: P10.881
§ Contitech 881 MB ‘ _ Operation 380 mm
€ | Firestone 1T 66F-10.8 ‘ ° Space
@ | Dunlop D14 U36 ‘ Assembly
< _ ‘ M16 . 350 mm
e | Phoenix 1DK 32 ! Height
9 Goodyear 1R14-708 Loading
o : 3300 Kg
o CF Gomma 1TC 360-45 Capacity
P10.882.R1
MAN 2210 Specification
MERCEDES S N Total
= | Weight 180k
(=) |
Operati
=
P10.882 ressure
# | Contitech 882 N1 Operation 290 mm
§ Firestone 1R4R 465 260 Space
@ | Dunlop D12 S12 Assembly
s . . 275 mm
oc  Phoenix 1F16-1 Height
% | Goodyear 9048 Loading
e : 1550 Kg
& | CF Gomma 1SC 250-28 Capacity

49




== ki
Air Springs

P10.883.R1

MAN Specification
VOLVO Total
E Weight ~ 240kg
o
Operation
Pp I 5.0 bar
ressure
& | Contitech 883 N1 Operation
o . 300 mm
g Firestone Space
@ | Dunlop D13 S03 Assembly
‘S - . 365 mm
oc  Phoenix 1F21C-2 Height
9 Goodyear 9012 Loading
e C . 1850 Kg
© | CF Gomma 1 SC 250-29 apacity
P10.884.R1
IVECO Specification
s MAN Total 240k
& | MERCEDES Weight 79
RENAULT =3 Operation 50b
Pm~‘884 Pressure - bar
& | Contitech 884 N1 w Operation
o | 300 mm
£ | Firestone ‘ Space
& | Dunlop D12 S06 } Assembl
S ! Y 265 mm
ec | Phoenix TF20A ‘ Height
@ | Goodyear 9002 ot oading 300k
& | CF Gomma 1SC 270-28 @138 Capacity Y
P10.887.2C1
DAF Specification
= ‘ Total 8.50 k
‘ f Weight S0 kg
w
8 I_‘H' ‘ | 2190 )
Operation
I: 5.0 bar
E=sa Pressure
& | Contitech 887 M2K1 Plt‘l.887 1 Operation 300
§ Firestone 1715 NLR-3 : Space mm
1)
® ' Dunlop Assembly
- " M16
& | Phoenix N Height 260 mm
9 Goodyear Loading
g \ . 1900 Kg
o | CF Gomma Capacity
P10.887.C1
DAF Specification
Total
=] __ @190
Operation
Pp 5.0 bar
ressure
& | Contitech 887 MK1 Operation
o 300 mm
£ | Firestone Space
@ | Dunlop M16 Assembly
[
& | Phoenix Height ~ 280™MM
4 Goodyear Loading
e : 1900 Kg
o CF Gomma Capacity

50




s |

E Air Springs

P10.887.C6

DAF Specification
‘ ‘ Total
E -—ﬂl ; ﬂr], w @229 WEIght 8.00 kg
o ‘ 7 @190 0
peration
Zaa !
pﬁ ‘ Pressure 5.0 bar
§ Contitech 887 MB K6 C I 'T>§ Operation
< | Firestone ! Space mm
® D w
% unlop 8 & x 10 M16 Assembly 260
¢ | Phoenix | Miex1s Height mm
2 Goodyear ! Loading
o =~ 1900 Kg
© | CF Gomma Capacity
P10.887.S
DAF Specification
s Total
= ! @229 Weight 4.00 kg
o ‘767‘58
EZ=2 i
P10.887 ) Operation g b bar
‘ ' Pressure
g | Coniech 887 M | § s - L1 s Operation
g Firestone 1T15 LNR-3 ! l Space 300 mm
% Dunlop D11 U1 | Assembly 260
. ! M16 x 1. i mm
g Phoenix ‘ x15 3 MO Height
§ Goodyear 1R11-796 Loading
& | CF Gomma 21308 Capacity 1900 Kg
P10.896.R
DENNIS o Specification
SCANIA f_&_\ Total
Ega Operation 50b
P10 896 Pressure o bar
§Contitech 896 N | Operation 220
€ | Firestone 1R1J 520 285 | 2 Space mm
E Dunlop SP 2191 i Assembly
2 | Phoenix 2 18A | Height ~ 320M™
2 Goodyear 8040 ‘ Loading
& | CF Gomma R TETE— Capacity  21°0Kg
P10.897.R
DENNIS e Specification
= PEGASO i Total
@ | SCANIA Weight 17019
|=E’§.,2 Operation 50b
Plo.‘897 Pressure -0 bar
§ Contitech 897 N | . Operation
2 | Firestone 1R1K 440 320 | ¢ Space 210"
:q'_; Dunlop SP 2192 I Assembly 300
& | Phoenix 2E23 | Height mm
§ Goodyear 8028 \_L Loading
& | CF Gomma 1S 320 30 Capacity ~ 2690K0

51




s |

E

P10.9002.CPA3

Specification
e Total
E ; @ 259 Weight 6.50 kg
o) =a @200
!:E: Operation
. P 5.0 bar
‘ ressure
& | Contitech | g Operation
o .. 310 mm
g Firestone Space
@ | Dunlop D12 D17 ‘ Assembly
5 _ = : 400 mm
2 | Phoenix 1DK 21 A3 | Height
% | Goodyear 1R11-106 Bl q Loading
o I Capacity  2100Kg
o | CF Gomma apacity
P10.9002.CPAS8
SAF ﬂl Jl Specification
TRAILER = ' Total
= P L:J 5\ 229 @ 200 Weight 6.30 kg
HQJ 10 100
E Operation 50b
P10.9002 ® \ "’I Pressure -0 bar
& | Contitech ! s ey - Operation
Q. N 9 310 mm
£ Firestone ‘ Space
o ‘
% Dunlop D12B18 2xM12 2 M2 Asse.mbly 400 mm
g Phoenix 1DK 21 A-8 M22x1.5 Height
§ Goodyear 1R11-111 Loading 2100 K
& | CF Gomma Capacity 00Kg
P10.9002.SA3
0248 Specification
Total
=) @116 i
D Operation
Esa P 5.0 bar
P10.9002 ressure
@ | Contitech ‘ Q Operation
2 | Firestone | g Space 310 mm
5 i
8 Dunlop | M12 Assembly 400
& | Phoenix 1DK 21 A-3 | Height mm
2 Goodyear Loading
& | CF Gomma Capacity  2100Kg
P10.9002.SA8
@218 Specification
———t— Total
Z | « om0, Weight 440 kg
S 1 %0 2 116
Operati
Esa PEION ¢ ) o
P10.9002 ® \ I Pressure
. \ R
& | Contitech | . et Q Operation
o ! 2 9 S 310 mm
& | Firestone \ ‘ pace
@ | Dunlop \ ‘ M2 M12 Assembly
[t i X
& | Phoenix 1DK 21 A-8 } w2215 Height ~ 400 MM
§ Goodyear Loading 2100 K
& | CF Gomma Capacity 00Kg

52




s |

E Air Springs

P10.901.C

RENAULT Specification
Total
§ ;—M—‘—ﬂ—v Weight 17.50 kg
o Operation
EE£2 5.0 bar
P10.901 Pressure
& | Contitech 901 MB ‘ g Operation 130
§ Firestone 1719 G-12 Space mm
E Dunlop . Assembly 350
& | Phoenix Height mm
2 Goodyear | Loading 3800 K
& | CF Gomma Capacity g
P10.901.S
RENAULT 230 . oo Specification
Total
Fga Operation
EE2 P 5.0 bar
P10.901 16X 15 ressure
@ | Contitech 901 MB/0 | Operation 430 mm
§ Firestone 1T19 G-12 | Space
-
® | Dunlop ! Assembly
L M12 x 1.25
& | Phoenix | Mo 15 Height 520 ™™
§ Goodyear ———— Loading 3800 K
& | CF Gomma o Capacity g
P10.902.C
RENAULT Specification
Total
o
Operati
Ppe ton 5.0 bar
ressure
& | Contitech 902 MB Operation 100
2 | Firestone 1T19G-12 Space mm
1)
® ' Dunlop Assembly
(™=
2 Phoenix Height 350 mm
2 Goodyear ‘ Loading 2500 K
& | CF Gomma Capacity Y
P10.902.S
RENAULT B @300 N SpeCification
Total
§ | Weight 850k
Operation
I=E’ PEessure 5.0 bar
P10.902 M16x 1.5
¢ | Contitech 902 MB/0 | . - Operation 400 mim
§ Firestone 1719 G-12 | ’ Space
@ | Dunlop ' Assembly
- M12 x 1.25
¢ | Phoenix | Height 350 mm
2 GOOdyear —— Loading
& | CF Gomma _ogo ] Capacity 3500 Kg

53




s |

E Air Springs

P10.909.ST

@ 253

MAN ‘ Specification
NEOPLAN ?—t—\ Total
E | Weight ~ 3-00kg
o F g 116
[ =t Operation
P10.909 P 5.0 bar
‘ ressure
& | Contitech 909 NT ‘ 5 D Operation 320 mim
§ Firestone 1T 15L-6 ! Space
E Dunlop ‘ o Assembly 225
& | Phoenix 1D23C-1 | Height mm
2 Goodyear ‘ Loading 2250 K
& | CF Gomma 17320 Capacity g
P10.909.STB
MAN ”f“ Specification
= ;—‘—R Total 250k
HQJ ‘ 116 Weight U kg
EEs2 Operation
P10.909 Pressure "0 P&
& | Contitech 909 NTB ‘ 5 D Operation 220 mm
§ Firestone 1T 15L-6 ‘ Space
E Dunlop | e Assembly 225
& | Phoenix 1D 23B-2 Height mm
§ Goodyear Loading 2250
& | CF Gomma 17320 SP Capacity g
P10.912.C01
SAF Specification
lﬂ ,__mw‘i Total
E e | N\ @287 Weight 14.50 kg
o Bza |
P10.912 Operation .\
Pressure '
§ Firestone 1T19L-14 Space
E Dunlop Assembly 500
& | Phoenix 1D28D-10 N Height mm
2 Goodyear Loading 2800 K
& | CF Gomma 1T19E-2L Capacity g
P10.912.C02
HENDRICKSON Specification
= ROR Total 1500k
S SAF @ 287 @ 260 Weight -UU kg
o 0 )
peration
I=E’g_§?‘., Pressure >0 b
—1— P10.912
& | Contitech 912 NP02 Operation —
§ Firestone 1T19L-14 Space
8 | Dunlop - Assembly 500
& | Phoenix 1D 28 D-2 M2zx15 Height mm
g Goodyear Loading 2800 K
& | CF Gomma 1T19E-4 Capacity g

54




== ki
Air Springs

P10.916.C

MAN Specification
Total
E Weight ~ 11-50kg
o 280
EEs=2 @ 232 .
S Operation
P10.916 Pp I 5.0 bar
ressure
§ Contitech 916 N m.K g Operation
S Firestone M18x1.5 6g Space 310 mm
= Dunl M10x1 6H M18x2 6H
8 | Dunlop & Assembly 2
& | Phoenix Height 65 mm
2 Goodyear Loading
o . 2150 Kg
© CF Gomma Capacity
P10.916.R1
MAN 0238 Specification
2 130.8
s — | | Total
P Operation 50b
PIEO Pressure 0 bar
§ Contitech 916 N1 ' Operation
g Firestone Space 310 mm
E Dunlop D12 S05 Assembly 265
& | Phoenix 1F21C-5 Height mm
§ Goodyear 9016 Loading
° . 2150 Kg
o CF Gomma Capacity
P10.927.R
DENNIS Y Specification
= SCANIA r&’ﬁ* Total
i | SCHMITZ | Weight 140k
VOLVO Egmg Operation 50b
Plo.‘927 Pressure .0 bar
§ Contitech 927N ! 2 Operation
2 | Firestone 1R1J415 285 | Space  220MM
1)
8 Dunlop ‘ Assembly 7
2 | Phoenix 2E18B | Height 280 ™M™
2 Goodyear 8037 j:‘:F Loading
& | CF Gomma ——emms Capacity  2150Kg
P10.940.C
BPW Specification
s Total
3 o Weight ~ 15-00kg
Operation
P 5.0 bar
ressure
§ Contitech 940 MB m.K Operation
2 | Firestone 1T17D4.3 Space 2 MM
:q'_a Dunlop D11 U31 Assembly 2
& | Phoenix 1DK 21K Height ~ 290 MM
§ Goodyear 1R11-703 Loading
e . 2100Kg
o CF Gomma Capacity

55




==

P10.940.CP

BPW m . Specification
; L:_' - § Total
E I:E) 2259 @ 195 Weight 12.00 kg
° P10.940 - )
Operation 50b
Pressure -0 bar
& | Contitech 940 MB PP. —7%  Operation
o . ] @i 325 mm
g Firestone 1T17D 4.3 Space
1)
© | Dunlop D11 U36 X1, Assembl
Hq-’ - 2xM12 M22x 1.5 } y 295 mm
ec | Phoenix 1DK 21K Height
9 Goodyear 1R11-752 Loading
o : 2100 Kg
© | CF Gomma Capacity
P10.940.S
BPW s Specification
Total
E i @259 Weight 4.80 kg
o E‘ga 150, @135 .
P10.940 Operation ¢ o or
‘ ”I Pressure
& | Contitech 940 MB o.K | g Operation
& | N 325 mm
5 Firestone 1T17D 4.3 | Space
3 | Dunlop D11 U31 ! patnWiz2x 15 M16 Assembly o
& | Phoenix 1DK 21 K Height
4 Goodyear 1R11-703 Loading
e . 2100 Kg
o CF Gomma Capacity
P10.941.C
BPW Specification
s Total 1580 k
' @259 : . g
g Bera Weight
Operation
Pressure 5.0 bar
& | Contitech 941 MB m.K. Operation
o . 325 mm
€ | Firestone 1T17D 8.3 Space
& | Dunlop D11U38 Assembl
< . Y 310 mm
ec | Phoenix 1DK 21 Height
9 Goodyear 1R11-702 Loading
e C . 2100 Kg
o CF Gomma 1TC 300-36 apacity
P10.941.CP
BPW Specification
Total
E | 2259 @ 195 Welgh'[ 13.30 kg
© I=E,§..§.
P10.941 Operation 50b
Pressure -0 bar
# | Contitech 941 MB PP. Operation
o . 325 mm
£ | Firestone 1T17D 8.3 Space
:q'_; Dunlop D11 B33 Assembly
© . . 310 mm
oc  Phoenix 1 DK 21 Height
4 Goodyear 1R11-743 Loading
o Capaci 2100 Kg
& | CF Gomma 1TC 300-36 apacity

56




s |

E Air Springs

P10.941.S

BPW e Specification
= Total 510k
= j 5250 Weight 1Ukg
o ! 2135 Overat

|=E’§§ Pperatlon .0 bar
P10.941 ressure
@ | Contitech 941 MB oK. | ) Operation
§ Firestone 1T17D 8.3 | K Space mm
1)
© | Dunlo D11 U30
2 P } M16 Assgmbly 210 mm
o= Phoenix 1DK-21 Height
4 Goodyear 1R11-700 Loading
S Capaci 2100 Kg
o CF Gomma 1TC 300 36 apacity
P10.942.C
BPW Specification
Total
s : @311 Weight 19.00 kg
L 220
° B=a ooera
P10.942 peration
N N Pressure 5.0 bar
@ | Contitech 942 MB m.K. ‘ 1 Operation
e 8| 380 mm
g Firestone 1T 66F-13.5 ‘ Space
1
@ | Dunlop M22x 15 Assembly
“ : . 350
2 Phoenix 1DK 32L M2 T o256 Height mm
g Goodyear Loading 2250 K
& | CF Gomma Capacity Y
P10.942.S

BPW 0300 Specification

s @Z Total 130k
A 2311 . .30 kg

o i o Weight
o > @ 190 )

FE’_,_gma__ Operation

P10.942 Py Pressure 5.0 bar

w
& | Contitech 942 MB ! . - ——F Operation
o ‘ g ! & 380 mm
g Firestone 1T 66F-13.5 ! Space
-
® | Dunlop ‘ i M16 Assembly
S ! x15 5 RxM12 . 350 mm
& | Phoenix 1DK 32L | M xS Height
2 Goodyear 1R14-700 Loading 2250 K
& | CF Gomma ' Capacity Y
P10.944.R

DAF o308 Specification
5 |IVECO f:\ . el
o ‘ b > Weight 00 kg
© = - g Onerat

(=1 peration

P10.944 N Pressure 5.0 bar

v
g Contitech 944 N ! s T Operation 125
° mm

2 | Firestone 1R1A 370 285 | ' Space
8 | Dunlop SP1217 | - Assembly o
& | Phoenix 1E 21-6 ‘ - Height
§ Goodyear 8012 \ ! Z vy Loading 2200 K
& | CF Gomma 1S 285-23 Capacity g

57




s |

E Air Springs

P10.948.S

BPW 2265 Specification
Total
E o287 Weight 8.80 kg
o M22 x 1.5 )
‘ Operation 50b
Eg_m Pressure -0 bar
” , P10.948 _
& | Contitech 948 MB < Operation
o . 3 350 mm
€ | Firestone Space
@ | Dunlop | A bl
5 SSEMOY 120 mm
e | Phoenix 4xM12 Height
2 Goodyear \ ‘ / Loading 3000 K
& | CF Gomma 1T19E3 Capacity g
P10.951.S
BPW 0248 Specification
Total
E @ 259 5135 Welght 5.80 kg
o P 150 E—
Es2 Operation
P10.951 Y ‘ Pressure 5.0 bar
il
@ | Contitech 951 MB | . Jr** P Operation
o \ e | al 325 mm
g Firestone 1T17 D12 ! | Space
1
® | Dunlop ‘ M16 Assembly
[ 2xM12 L m22x 1. .
& | Phoenix x1.5 Height 390 mm
§ Goodyear 1R11-704 Loading 2000 K
& | CF Gomma Capacity ~ 2000Kg
P11.9270.C
HENDRICKSON « > Specification
160463
E < 210113 Weight 11.00 kg
<) fx__ng\ = @226(9.00")
~ E § Operation 5.0 bar
= g P11.9270 £ Pressure
§ Contitech 9.10-13.5 5433 % < g Operation
£ | Firestone W013589270 | | [/ g Space
5 | Dunlop 1R15VP-4 ‘V il It - Assembly
< : = i . 450 mm
o= | Phoenix = 0240(9.45) Height
2 Goodyear 1R 13-119 e Loading
& | CF Gomma v Capacity
P11.9780.CP
« 160335  » Specification
0270(1062") Total
Z i 210099 Weight 660 kg
e 3 ‘ == * o8 " -
| ! =< — < = 220531 .
Eﬁ Z‘;’ 157.5(6.20') Operation 5.0 bar
_ P11.9780 ‘é e Pressure )
§ Contitech 9 10S-16A 382 § % Operation
£ | Firestone W01 358 9780| & 8 g Space
% Dunlop 1T15ZR-6 § g g Assgmbly 570 mm
g | Phoenix , Height
§ Goodyear 1R 12-303 , Loading
@269(10.62") .
& | CF Gomma Capacity

58




= ah
E

P20.1101.B

SCANIA Cross References
93-113-143 Front/ Rear

Complete Type —p 2
/////////////////////////,,,,%/Z;//////////%%//,W Sachs
=
= 481002
Shock Absorber Type %{/{////////@%ng/y////ﬁ
Monroe
Spring Type CB0066
1348121 - 1314278
P20.1101.BA
SCANIA Cross References
93-113-143 Front/ Rear
Complete Type
1331621-1331635-393257 = Sachs
E 1117320-1117334-1331634 m 112320-105845
o 370227-1331620-1116535 105831
Shock Absorber Type
1348120 - 1348119 Monroe
Spring Type CB0065
1348121 - 1314278
P20.1201.B
SCANIA Cross References
94-114-144 Front/ Rear
Complete Type
Monroe
E 1476415 - 1381919
o
Shock Absorber Type CB0030
—
Spring Type
P20.1201.FA
SCANIA Cross References
94-114-144 Front
Complete Type
Monroe
s 1476415 - 1381904
w 1397400
o
Shock Absorber T, S
ock Absorber Type N 717262725
1435859
Spring Type
1381919

59




= ah
E

P20.1201.RA

OEM

SCANIA
94-114-144 Rear

Complete Type
1476415-1381906-1382829

1382829-1435856-1382826
1397392
Shock Absorber Type
1397398
Spring Type
1381919

L=

Cross References

Monroe

717262725

P20.1202.B

SCANIA
94-114-144 Front/ Rear

Cross References

94-114-144 Front

Complete Type
1363122 - 1424228

Complete Type
Sachs
E ; 557001
o
Shock Absorber Type
Monroe
Spring Type CB0077
1349840
P20.1202.FA
SCANIA Cross References

Sachs

OEM

E 1381904 - 1397396 ‘ 105871 - 290201
(<) 11 — 2902?35_827920988
Shock Absorber Type —_—N/
1363120 Monroe
Spring Type CB0077
1349840
P20.1202.RA
SCANIA Cross References

94-114-143 Rear
Complete Type

1382827

Shock Absorber Type
1424229

Spring Type
1349840

D

0

g

Sachs

105873

Monroe

CB0059

60




= ah
E

P20.1301.B

SCANIA Cross References

R Serie Front/Rear

Complete Type i — ¢
2 \/\\\\g\g Sachs
s % _
o I _ 310619
7 e —
Shock Absorber Type 2 /-\\\\\\\\\\\\\\\\\‘“\\\
Y Monroe
Spring Type CB0067
1424231
P20.1301.BA
SCANIA Cross References
R Serie Front/Rear
Complete Type
Sachs
s 1424231
w
© 310619
Shock Absorber Type :
1505563 Monroe
Spring Type CBoo67
1424231
SCANIA Cross References
R Serie Rear
Complete Type _ ’
""’///'/g’}{!.l" Monroe
s
o CB0074
Shock Absorber Type Y 877
yp §\:\‘\:“\’% /,",,""vq
Spring Type
1502468
P20.1302.RA
SCANIA Cross References
R Serie Rear
Complete Type
Monroe
= 1502468
o
Shock Absorber Type 117262778
1502474
Spring Type
1502468

61




==

P20.1304.R

OEM

SCANIA

R Serie Rear

Complete Type

Shock Absorber Type

Spring Type
1349840

%)
?
¢
é
¢
i
7
7
é
a
¢
7

7
v

Cross References

Sachs

310619

P20.1304.RA

OEM

SCANIA

R Seria Rear

Complete Type
1382827

il

Shack Absorber Type
1424229

Spring Type
1349840

Cross References

Sachs

310619

P20.2101.FA

OEM

MERCEDES

Actros Front

Complete Type

942 890 2919

Shock Absorber Type

Spring Type

§
N
N
N2
N2
N2/
N2
N
N2
§
§

Cross References

Sachs

1056392

P20.2101.RA

OEM

MERCEDES

Actros Rear

Complete Type

942 890 0219
942 890 6019

Shack Absorber Type

Spring Type

Cross References

Sachs

105409 - 290997

62




| —

P20.2102.FA

OEM

MERCEDES
Front

Complete Type

943 890 3819

Shock Absorber Type

Spring Type

Cross References

Sachs

105414

P20.2102.RA

OEM

MERCEDES
Rear

Complete Type

942 890 5919

Shock Absorber Type

Spring Type

qp

Cross References

Sachs

290998

P20.3101.FA

MAN
F2000 Front

Complete Type

81.41722.6048
81.41722.6051

Shock Absorber Type

Spring Type

Cross References

Sachs

105855

P20.3101.RA

OEM

MAN
F 2000 Rear

Complete Type

81.41722.6049
81.41722.6052

Shock Absorber Type

Spring Type

qp

Cross References

Sachs

105856

63




| —

IVECO Cross References
Stralis Front
Complete Type
Sachs
= 500 357 351 R
Shock Absorber Type }\\\\\\\\\\\\\\\\K\\\\\\T\\\\.\\'\\ 731;28888892
Spring Type
MERCEDES Cross References
Stralis Front
Complete Type
Sachs
>
o 500 357 352 ' ‘
@] s e
Shock Absorber Type 731700135079
310821
Spring Type
IVECO Cross References
Stralis Rear
Complete Type
T Nl Sachs
E 504 060 241 m
(@)
Shock Absorber Type i \\\\\\\\\\\\«&\\\Q\l\\ -
¥
731700000277
Spring Type
IVECO Cross References
Stralis Rear
Complete Type . .
25 Arvinmeritor
E 500 340 706 ﬂ] i
O 17 9,
L 522
Shock Absorber Type L "/z;
' 908322986
Spring Type

64



| —

P20.4103.RA

IVECO
Stralis Rear

Complete Type

> 500 340 706

OE

Shock Absorber Type

Spring Type

Cross References

Arvinmeritor

908322986

P20.4104.RA

OEM

IVECO
Stralis Rear

Complete Type

504 060 233

Shock Absorber Type

Spring Type

Cross References

Arvinmeritor

9083323140

P20.4201.RA

OEM

IVECO

Eurotech

Eurostar Type2 Rear

Complete Type

4102864 - 41028763
500377878 - 500348793

Shock Absorber Type

Spring Type

Eo

|\ il

Y

Cross References

Sachs

115743

P20.4202.RA

OEM

IVECO

Eurotech

Eurostar TypeL Rear

Complete Type
500379698 - 500307338

99455937 - 500352808
99438514

Shock Absorber Type

Spring Type

E &

Cross References

Sachs

115731

65



| —

P20.4203.F

OEM

IVECO

Eurotech

Eurostar Front

Complete Type

Shock Absorber Type

Spring Type
41019150-8169050

Cross References

Pirelli

IGC 130-30

P20.5101.B

OEM

RENAULT
G340 Ti Front / Rear

Complete Type

Shock Absorber Type

Spring Type
50102668454

Cross References

Contitech

SZ 50-10

P20.5102.B

OEM

RENAULT
G340 Ti Front/ Rear

Complete Type

Shock Absorber Type

Spring Type
5010092916E

Cross References

Contitech

SZ 50-8

P20.5103.B

OEM

RENAULT
Gamme G

Complete Type

Shock Absorber Type

Spring Type

Cross References

Contitech

SZ 50-6

66




| —

P20.5201.B

OEM

RENAULT
Magnum Front/ Rear

ST e

Complete Type

Shock Absorber Type

Spring Type
5010320096A

— S
N

N

NSNS TNNT 2,

ks
N ——

Cross References

Contitech

816-Z

P20.5301.RA

OEM

RENAULT
Premium Rear

5010269674

Complete Type
5010228908-5010316783 @ §%

Shock Absorber Type

Spring Type

Cross References

Contitech
Sz 31-10

Sachs

131041 - 310957

P20.5302.F

OEM

RENAULT

Premum Front

Complete Type

Shock Absorber Type

Spring Type
5010130797G

Cross References

Contitech

SZ 50-9

P20.6101.FA

OEM

VOLVO
FH12-FH16 Front

Complete Type

3172984 - 1629724
1629719

Shock Absorber Type

Spring Type

Cross References

Monroe

717269833

67




| —

VOLVO Cross References
FH12-FH16 Rear
Complete Type
Monreo
20427897 A
CE) 20721169 @
Shock Absorber Type _— V
717269647
Spring Type
P20.6103.RA
VOLVO Cross References
FH12-FH16 Rear
Complete Type
Monroe
s 1075076
& 1075077
o
Shock Absorber Type
717262602
Spring Type
Seat Cross References
Complete Type
Contitech
E N
L
(@) 5
Shock Absorber Type S7 515
Spring Type
P20.10102.FA
Seat Cross References
Complete Type NN
Contitech
>
L
o
Shock Absorber Type SZ 51-10
Spring Type

68




IE

Seat Cross References
Complete Type
Contitech
>
I
]
Shock Absorber Type <7517
Spring Type

69




BPW Pega FREIGHTLINER Pega HENDRICKSON Pega
02.200.24.10.0 P10.720.R 16-13810-000 P11.9780.CP S 20124 P11.9265.C
02.200.24.20.0 P10.727.R 681-320-0017 P11.9780.CA S 20127 P11.9580.C
02.200.24.40.0 P10.644.R S 20217 P11.8944.CP
02.200.24.60.0 P10.662.R S 20223 P11.9640.C
05.429.40.01.0 P10.881.S ARSI FELE S 2066 P11.9082.C
05.429.40.03.0 P10.941.S 431487 P10.4420.S S 2066 P11.9082.CP
05.429.40.05.0 P10.942.S 003615E P10.813.C S 20900 P11.8709.C
05.429.40.08.1 P10.881.C M001472 P10.4156.C09 S 2091 P11.8091.C
05.429.40.28.1 P10.941.C M001472 P10.4156.CP15 S 22045 P11.8755.C
05.429.40.72.0 P10.951.S M001774 P10.4159.CP09 S 3467 P11.9122.C
05.429.40.91.0 P10.940.S M001782 P10.4159.C07 S 3467 P11.9122.CP
05.429.41.01.0 P10.4881.502 M078580 P10.4157.CP03 S 4771 P11.8050.C
05.429.41.09.0 P10.4942.502 M078580 P10.4157.CP08 S 7128 P11.9156.C
05.429.41.14.1 P10.940.C UCD-9393-2 P11.9394.CP S 7128 P11.9156.CP
05.429.41.23.1 P10.940.C UJA 0894-001 P10.4159.CP14
05.429.41.24.1 P10.941.C UJB 0203-001 P10.4159.C07
05.429.41.25.0 P10.4941.502 UJB 0207-001 P10.4156.C09 R e
05.429.41.31.1 P10.4881.C UJB 0305-001 P10.4008.C01 2498667 P10.661.R
05.429.41.56.0 P10.4940.502 UJB 0305-001 P10.4008.S 4714025 P10.673.R
05.429.41.77.0 P10.4960.502 UJB 0358-001 P10.4159.CP09 4714025 P10.944.R
05.429.42.03.0 P10.4962.502 UJB0975 P10.4157.CP10 4722525 P10.944.R
05.429.42.04.0 P10.4961.502 4738008 P10.944.R
05.429.42.19.1 P10.940.C 4746733 P10.661.R
05.429.43.20.0 P10.941.CP Gl Rega 6657150 P10.944.R
05.429.43.21.0 P10.940.CP 166217 P10.725.C02 8188526 P10.944.R
05.429.43.41.0 P10.4881.CP 166225 P10.724.C02 8188539 P10.884.R1
05.429.43.51.0 P10.881.CP 166252 P10.725.C03 41822247 P10.661.R

166259 P10.724.C03 41822247 P10.662.R
DAF p 196043 P10.727.R 93197594 P10.450.R25

€ga 246149 P10.725.501 97108363 P10.884.R1

0 067 306 P10.811.S1 246169 P10.724.501 98478799 P10.1885.C
0 067 504 P10.836.S 246192 P10.726.501 98478799 P10.1885.R1
0297 721 P10.836.C7 247100 P10.752.501 500301452 P10.884.R1
0377 498 P10.836.C4 247100 P10.752.C 536905265 P10.644.R
0388 165 P10.836.C1
0 388 167 P10.836.2C1
0392 022 b10.887 C1 GRANNING Pega KASSBOHRER Pega
0513 982 P10.836.52 1359 P10.4156.C04 4.731.012.000 P10.661.R
0513983 P10.887.S 1528 P10.4156.C04 4.731.029.000 P10.811.ST
0513 985 P10.836.51 15634 P10.813.C 4.731.030.000 P10.813.C
0526 651 P10.836.C6 15635 P10.810.C 4.731.031.000 P10.661.R
0 559 483 P10.887.2C1 15732 P10.4157.CP05 4.731.033.000 P10.813.C
0578 361 P10.662.R 4.731.042.000 P10.661.R
0 627 584 P10.673.R 4.771.110.000 P10.644.R
0627 584 P10.944.R RIERDRIETCEOR HELE 4.771.143.000 P10.644.R
0 638 148 P10.727.R 505 859 P10.813.C 4.771.170.000 P10.644.R
0676 122 P10.811.S1 505 859 / 01 P10.813.C 4.771.359.000 P10.644.R
0 689 677 P10.644.R 506 243 P10.810.C 4.771.427.000 P10.661.R
1141 525 P10.887.C6 506 243/ 01 P10.810.C 4.771.440.000 P10.661.R
1384 273 P10.810.C 507 782 P10.912.C02 4.771.441.000 P10.644.R
1384 274 P10.811.C 785 168 P10.810.C
1697 678 P10.836.C1 785 170 P10.813.C

B 2066 P10.4156.CP14 HHElRUS DIEU 2 iz

B 3842 P10.4159.CP11 0249 1566 P10.673.R
DERINES g HA100001 P10.4156.CP15 0249 8667 P10.661.R
611896/ 12 P10.927.R HA100016 P10.4156.CP10 0418 22247 P10.661.R
650292 /8 P10.720.R HS 251087 P10.0081.C 536 905 265 P10.644.R
650 883/ 4 P10.720.R NA 1817 P10.4159.C08
650883/7 P10.720.R NA 1817 P10.4159.CP13
656 289/ 2 P10.897.R S 14249 P11.9367.C
656 300/ 2 P10.896.R S 14249 P11.9367.CP

S 20010 P11.9270.C




MAN

Pega

MAN

Pega

MERCEDES

Pega

81.43600.6035
81.43601.0017
81.43601.0018
81.43601.0025
81.43601.0033
81.43601.0033
81.43601.0033
81.43601.0035
81.43601.0036
81.43601.0036
81.43601.0037
81.43601.0047
81.43601.0048
81.43601.0050
81.43601.0051
81.43601.0054
81.43601.0056
81.43601.0057
81.43601.0057
81.43601.0058
81.43601.0058
81.43601.0065
81.43601.0066
81.43601.0066
81.43601.0067
81.43601.0068
81.43601.0068
81.43601.0068
81.43601.0068
81.43601.0069
81.43601.0069
81.43601.0069
81.43601.0070
81.43601.0071
81.43601.0072
81.43601.0073
81.43601.0076
81.43601.0079
81.43601.0082
81.43601.0084
81.43601.0091
81.43601.0092
81.43601.0095
81.43601.0097
81.43601.0099
81.43601.0100
81.43601.0102
81.43601.0103
81.43601.0104
81.43601.0105
81.43601.0106
81.43601.0108
81.43601.0109
81.43601.0110
81.43601.0111
81.43601.0114
81.43601.0116
81.43601.0118
81.43601.0120
81.43601.0121
81.43601.0123
81.43601.0125

P10.4884.C06
P10.644.R
P10.662.R
P10.809.ST
P10.720.R
P10.720.R
P10.720.R
P10.811.ST
P10.720.R
P10.720.R
P10.720.R
P10.810.ST
P10.811.ST
P10.909.ST
P10.662.R
P10.909.ST
P10.727.R
P10.727.R
P10.727.R
P10.727.R
P10.727.R
P10.882.R1
P10.884.R1
P10.884.R1
P10.882.R1
P10.884.R1
P10.884.R1
P10.884.R1
P10.884.R1
P10.884.R1
P10.884.R1
P10.884.R1
P10.882.R1
P10.883.R1
P10.883.R1
P10.909.ST
P10.727.R
P10.727.R
P10.727.R
P10.727.R
P10.727.R
P10.882.R1
P10.916.R1
P10.916.R1
P10.882.R1
P10.916.R1
P10.916.R1
P10.882.R1
P10.1885.R1
P10.916.R1
P10.884.R1
P10.884.R1
P10.1885.R1
P10.883.R1
P10.1885.R1
P10.727.R
P10.727.R
P10.727.R
P10.1885.R1
P10.882.R1
P10.1885.R1
P10.1885.R1

81.43601.0126
81.43601.0128
81.43601.0132
81.43601.0140
81.43601.0144
81.43601.0150
81.43601.0151
81.43601.0152
81.43601.0153
81.43601.0153
81.43601.6002
81.43601.6019
81.43601.6023
81.43601.6029
81.43601.6036

P10.916.R1
P10.883.R1
P10.882.R1
P10.1885.R1
P10.661.R
P10.1885.R1
P10.4882.502
P10.4883.502
P10.4883.C05
P10.4884.502
P10.809.STB
P10.810.STB
P10.909.STB
P10.909.ST
P10.4882.C05

A 946 320 03 21
A 946 320 03 21
A 946 320 04 21
A 946 320 05 21
A 946 328 04 01
A 946 328 14 01
A 974 320 04 17

P10.4737.CO1
P10.4737.S1
P10.4838.C01
P10.4737.C02
P10.0081.C
P10.4157.CP04
P10.4757.C09

MERCEDES Pega

A 000 327 01 01 P10.644.R

A 307 327 00 01 P10.644.R

A 307 327 01 01 P10.644.R

A 307 328 00 01 P10.644.R

A 307 328 01 01 P10.727.R

A 327 328 00 01 P10.644.R

A 356 327 00 01 P10.450.R25
A 360 328 01 01 P10.720.R

A 364 327 70 01 P10.644.R

A 383 327 00 01 P10.673.R

A 387 328 00 01 P10.720.R

A 387 328 0101 P10.720.R

A 613 327 00 01 P10.644.R

A 6133270101 P10.450.R25
A 613 327 02 01 P10.661.R

A 658 328 00 01 P10.884.R1

A 658 328 01 01 P10.882.R1

A 699 328 01 01 P10.882.R1

A 942 32001 17 P10.4757.CO1
A 94232001 21 P10.4390.C01
A 942 32002 21 P10.4390.C02
A 942 320 03 21 P10.4390.C04

A 942 320 04 21
A 942 320 32 21
A 942 32035 21
A 942 320 36 21
A 942 320 37 21
A 942 320 38 21
A 942 320 39 21
A 942 32043 21
A 942 320 48 21
A 942 320 49 21
A 942 320 50 21
A 942 32051 21
A 942 320 52 21
A 942 327 00 01
A 942 327 00 01
A 942 328 00 01
A 942 328 00 01
A 942 328 01 01
A 945 320 00 17
A 945 320 00 17
A 946 320 01 21
A 946 320 02 21

P10.4390.C03
P10.4757.C29
P10.4838.C23
P10.4838.C22
P10.4737.C21
P10.4838.C21
P10.4737.C22
P10.4757.C21
P10.4758.C21
P10.4390.C21
P10.4390.C22
P10.4390.C24
P10.4390.C23
P10.4390.S1

P10.4757.S1

P10.4390.S1

P10.4757.S2

P10.4390.S2

P10.4758.C01
P10.4758.S1

P10.4838.C03
P10.4838.C02

A 974 328 01 01 P10.4757.S2
NEOPLAN Pega

1001 10 100 P10.661.R
1001 10 200 P10.662.R
1001 10 300 P10.644.R
1001 12 250 P10.661.R
1001 12 251 P10.662.R
1001 12 254 P10.644.R
1001 12 300 P10.720.R
1021 00 200 P10.661.R
1021 00 500 P10.909.ST
1021 21 500 P10.909.ST
1024 00 200 P10.661.R

AA 10-01-001 P10.661.R

AA 10-01-002 P10.662.R
NEWAY Pega

212 156 32 P10.810.C

212 156 33 P10.813.C

905 570 08 P11.9101.C
905 570 08 P11.9101.CP
905 570 09 P10.4159.C04
905 570 19 P11.9121.C
905 570 19 P11.9121.CP
905 570 27 P10.4156.C04
905 570 27 P10.4156.CP14
905 570 75 P10.4156.C04
905 570 75 P10.4156.CP14
905 571 12 P11.9243.CP
905 571 60 P11.9366.C
905 571 73 P11.8204.C
905 572 33 P10.4157.CP03
905 572 33 P10.4157.CP08
RENAULT Pega
5.000.452.939 P10.810.C
5.000.745.918 P10.811.C
5.000.790.692 P10.813.C
5.001.829.866 P10.661.R
5.001.832.067 P10.4912.508
5.010.052.722 P10.901.C
5.010.052.722 P10.901.S
5.010.130.683 P10.901.C
5.010.130.683 P10.901.S
5.010.130.925 P10.813.C
5.010.211.724 P10.902.C
5.010.211.724 P10.902.S
5.010.239.252 P10.4154.CP05
5.010.294.385 P10.884.R1

5.010.557.355
5.010.294.252.B

P10.4912.C10
P10.4154.CP05




RENAULT Pega SCANIA Pega VOLVO Pega
5.010.294.307.B P10.4912.C07 255293 P10.4813.C07 1076 418 P10.6418.C
5.010.294.307.C P10.4912.C07 255293 P10.4813.S 1076 418 P10.6418.S
5.010.294.308.C P10.4911.C03 255295 P10.4813.C07 1076 420 P10.6420.C

255295 P10.4813.S 1076 594 P10.4713.C02

298568 P10.4813.C07 1076 594 P10.4713.S
RO FE 298568 P10.4813.S 1080 707 P10.810.C
1210 8082 P10.810.C 325748 P10.4813.C07 1082 085 P10.883.R1
2120 8082 P10.810.C 325748 P10.4813.S 1134 445 P10.644.R
2120 8939 P10.4156.C04 402315 P10.897.R 1134 446 P10.727.R
2120 8939 P10.4156.CP14 411623 P10.897.R 1137 888 P10.661.R
2121 5632 P10.810.C 411627 P10.896.R 1199 893 P10.644.R
2121 5633 P10.813.C 412622 P10.897.R 1590 136 P10.720.R
2121 5761 P10.4156.C06 413623 P10.897.R 1611 776 P10.673.R
2121 5761 P10.4156.C09 434932 P10.927.R 1622115 P10.720.R
2121 5761 P10.4156.CP15 1107674 P10.4813.C07 1622 116 P10.713.R
2121 6135 P10.4156.C06 1107674 P10.4813.S 1629193 P10.720.R
21216135 P10.4156.C09 1314906 P10.4813.C07 3116 354 P10.927.R
2122 1307 P10.4157.CP04 1314906 P10.4813.S 6 797 169 P10.713.R
2122 1349 P10.4008.C01 1379392 P10.4813.C07 20 427 803 P10.7803.C
2122 1349 P10.4008.S 1379392 P10.4813.S 20 427 803 P10.7803.S
2122 2239 P10.4028.C05 1379392 P10.4913.C02 20 427 804 P10.7804.C
2122 2442 P10.4157.CP05 1379393 P10.4913.504 20 554 759 P10.4718.S
2122 2442 P10.4157.CP09 1386199 P10.6199.C 20 554 759 P10.4718.C01
2122 2673 P10.912.C02 1386200 P10.6200.C

1440294 P10.4813.C07
SAF p 1440294 P10.4813.S WEWELER S

€ga 1440294 P10.4913.C02 2120 8082 P10.810.C

2.228.0002.00 P10.810.C 1440303 P10.40303.C US 00622 P10.810.C
2.228.2102.00 P10.810.C 1440304 P10.40304.C US 04028 P10.4028.C02
2.228.2202.00 P10.810.C 1440305 P10.40305.C US 04028 P10.4028.S
2.228.2402.00 P10.810.C 1440306 P10.40306.C US 06285 P10.4158.CP03
2.228.2602.00 P10.810.C US 06285 P10.4158.502
2.229.0003.00 P10.813.C US 06285F P10.8185.CP
2.229.0007.01 P10.4004.C03 Sl SR US 06285F P10.8185.S
2.229.0007.01 P10.4004.CP03 015 323 P10.4028.C02 US 06287 P10.4158.502
2.229.0009.00 P10.948.S 015 323 P10.4028.S US 06316 P10.4157.CP06
2.229.2103.00 P10.813.C 750 208 P10.661.R Us 07074 P10.4157.CP05
2.229.2403.00 P10.813.C 750 209 P10.662.R US 07074 P10.4157.CP09
2.229.2603.00 P10.813.C 750 212 P10.727.R US 07337 P10.810.C
3.229.0007.00 P10.4004.C03 750 212 P10.927.R US 07345 P10.813.C
3.229.0007.00 P10.4004.CP03 750 999 P10.4158.CP03 US 07364 P10.4157.CP04
3.229.0007.01 P10.4004.C03 750 999 P10.4158.502 US 07380 P10.4008.C01
3.229.0007.01 P10.4004.CP03 750 999 P10.8185.CP US 07380 P10.4008.S
3.229.0007.02 P10.4004.C03 750 999 P10.8185.S US 09361F P10.4156.CP14
3.229.0007.02 P10.4004.CP03 US 35864 P10.4156.C06
3.229.0013.00 P10.912.C02 US 35864 P10.4156.CP15
3.229.0027.00 P10.4810.C05 VA lRIO0) PEg US 87408 P10.813.C
3.229.0029.00 P10.4022.CP03 624319-420 P10.644.R US 87413 P10.810.C
3.229.0030.00 P10.912.C01 624319-610 P10.644.R US 874131 P10.810.C
3.229.0031.00 P10.4023.C03 624319-640 P10.727.R
3.229.0033.00 P10.4022.CP05 624319-670 P10.661.R
3.229.2127.00 P10.4810.C05 624319-690 P10.661.R
3.229.2129.00 P10.4022.CP03 624319-860 P10.673.R
3.229.2131.00 P10.4023.C03
3.229.2227.00 P10.4810.C05
3.229.2229.00 P10.4022.CP03 VeRo e
3.229.2231.00 P10.4023.C03 0134 445 P10.644.R
3.229.2429.00 P10.4022.CP03 1075 363 P10.4718.C01
3.229.2431.00 P10.4023.C03 1076 076 P10.4420.C01
4.284.3003.01 P10.4004.502 1076 076 P10.4420.S
4.284.3006.00 P10.4022.502 1076 416 P10.6416.C

1076 416 P10.6416.S




SIAINFAUI4IFY SSOUD SINALSAS ONRIdS UV




Contitech

10 10.5-15 P 460
10 10-15 S 522
10 10B-13 S 513
1110.5-17 A 317
11 10.5-21 A 313
1110.5-21 A 370
11 10.5A-16 P 523
11 10.5C-16 P 320
1885 N1

1885 N1

2725N

2725N

4004 N P02
4004 N P03
4008 N

4008 N P01
4022 N P02
4022 N P03
4022 N P03
4022 N P03
4022 N P05
4023 N P02
4023 N P03
4028 N

4028 N P02
4028 N P05
4154 N P01
4154 N P05
4156 N P01
4156 N P04
4156 N P05
4156 N P06
4156 N P07
4156 N P09
4156 N P10
4156 N P11
4156 N P14
4156 N P15
4156 N P16
4157 N P02
4157 N P03
4157 N P04
4157 N P05
4157 N P06
4157 N P08
4157 N P09
4157 N P10
4158 N P02
4158 N P03
4159 N P01
4159 N P03
4159 N P04
4159 N P05
4159 N P06
4159 N P07

Pega

P11.8709.C
P11.8755.C
P11.8729.C
P11.9121.CP
P11.9122.CP
P11.9156.C
P11.8091.C
P11.8050.C
P10.1885.R1
P10.1885.C
P10.2725.S
P10.2725.C
P10.4004.502
P10.4004.CP0O3
P10.4008.S
P10.4008.C01
P10.4022.502
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.4022.CP05
P10.4023.S
P10.4023.C03
P10.4028.S
P10.4028.C02
P10.4028.C05
P10.4154.501
P10.4154.CP05
P10.4156.S01
P10.4156.C04
P10.4156.S05
P10.4156.C06
P10.4156.C07
P10.4156.C09
P10.4156.CP10
P10.4156.C11
P10.4156.CP14
P10.4156.CP15
P10.4156.CP16
P10.4157.502
P10.4157.CP03
P10.4157.CP04
P10.4157.CP05
P10.4157.CP06
P10.4157.CP08
P10.4157.CP09
P10.4157.CP10
P10.4158.502
P10.4158.CP03
P10.4159.501
P10.4159.C03
P10.4159.C04
P10.4159.505
P10.4159.C06
P10.4159.C07

Contitech

4159 N P08
4159 N P09
4159 N P10
4159 N P11
4159 N P13
4159 N P14
4183 N P01
4183 N P21
4183 N1
4390 N PO1
4390 N P02
4390 N P03
4390 N P04
4390 N P21
4390 N P22
4390 N P23
4390 N P24
4390 N1
4390 N2
4420 N
4420 N PO1
4713 N
4713 N P02
4718 N
4718 N PO1
4737 N PO1
4737 N P02
4737 N1
4757 N P01
4757 N P09
4757 N P21
4757 N P29
4757 N1
4757 N2
4758 N PO1
4758 N P21
4758 N1
4810 N P05
4813 N
4813 N PO7
4838 N PO1
4838 N P02
4838 N P03
4838 N P21
4838 N P22
4838 N1
4881 N P02
4881 N P02
4881 N P02
4882 N1 P01
4882 N1 P05
4883 N1 P01
4883 N1 P06
4884 N1 P01
4884 N1 P06

Pega

P10.4159.C08
P10.4159.CP09
P10.4159.C10
P10.4159.CP11
P10.4159.CP13
P10.4159.CP14
P10.4183.C01
P10.4183.C21
P10.4183.51
P10.4390.C01
P10.4390.C02
P10.4390.C03
P10.4390.C04
P10.4390.C21
P10.4390.C22
P10.4390.C23
P10.4390.C24
P10.4390.51
P10.4390.S2
P10.4420.S
P10.4420.C01
P10.4713.S
P10.4713.C02
P10.4718.8
P10.4718.C01
P10.4737.CO1
P10.4737.C02
P10.4737.51
P10.4757.C01
P10.4757.C09
P10.4757.C21
P10.4757.C29
P10.4757.51
P10.4757.S2
P10.4758.C01
P10.4758.C21
P10.4758.51
P10.4810.C05
P10.4813.S
P10.4813.C07
P10.4838.C01
P10.4838.C02
P10.4838.C03
P10.4838.C21
P10.4838.C22
P10.4838.51
P10.4881.502
P10.4881.C
P10.4881.CP
P10.4882.502
P10.4882.C05
P10.4883.502
P10.4883.C05
P10.4884.502
P10.4884.C06

Contitech

4911 N P02
4911 N P03
4912 N P07
4912 N P08
4912 N P10
4913 N P02
4913 N P04
4940 N P02
4941 N P02
4942 N P02
4960 N P02
4961 N P02
4962 N P02
6416 N
6418 N
6420 N

644 N

6605 N PO1
6607 N PO1
6608 N PO1
661N

662 N
673N
713N
720N

724 N PO1
724 N P02
724 N P03
725 N P01
725N P02
725 N P03
726 N PO1
727N

752 N P01
752 N P02
7803 N

809 NT
809 NTB
810 MB
810 MB/O
810 NT
810 NTB
811 M

811 MB

811 MB

811 MB/O
811 MB/O
811 NT

811 NTB
813 MB
813 MB
813 MB/O
836 M

836 M K1
836 M K7

Pega

P10.4911.S02
P10.4911.C03
P10.4912.C07
P10.4912.508
P10.4912.C10
P10.4913.C02
P10.4913.504
P10.4940.502
P10.4941.502
P10.4942.502
P10.4960.502
P10.4961.502
P10.4962.502
P10.6416.S
P10.6418.S
P10.6420.S
P10.644.R
P10.7803.C
P10.6418.C
P10.6416.C
P10.661.R
P10.662.R
P10.673.R
P10.713.R
P10.720.R
P10.724.501
P10.724.C02
P10.724.C03
P10.725.501
P10.725.C02
P10.725.C03
P10.726.501
P10.727.R
P10.752.501
P10.752.C
P10.7803.S
P10.809.ST
P10.809.STB
P10.810.C
P10.810.S
P10.810.ST
P10.810.STB
P10.811.81
P10.811.C
P10.811.C2
P10.811.8
P10.811.CP2
P10.811.ST
P10.811.STB
P10.813.C
P10.813.C2
P10.813.S
P10.836.S
P10.836.C1
P10.836.C7



Contitech

836 M2

836 M2 K1
836 MB

836 MB K4
836 MB K6
881 MB

881 MB

881 MB

882 N1

883 N1

884 N

887 M

887 M K1

887 M2 K1
887 MB K6
896 N

897 N
910-12 A 427
910-12A 488
910-12 P 484
9 10-13.5 5433
910-14 P 312
9 10-16 P 310
910-17.5P 436
910-19 P 315
9 10-19 P 383
910-19 P 384
9 10-19 P 435
9 10-21 P 361
9 10-21 P 448
9 10-21 P 448
9 10-21 P 505
910S-16 A 382
901 MB

901 MB

902 MB

902 MB

909 NT

909 NTB

912 N P01
912 N P02
916 N1

927 N

940 MB

940 MB

940 MB

941 MB

941 MB

941 MB

942 MB

942 MB

944 N

948 MB

951 MB

RZ 450-25

Pega

P10.836.52
P10.836.2C1
P10.836.51
P10.836.C4
P10.836.C6
P10.881.S
P10.881.C
P10.881.CP
P10.882.R1
P10.883.R1
P10.884.R1
P10.887.S
P10.887.C1
P10.887.2C1
P10.887.C6
P10.896.R
P10.897.R
P11.9640.C
P11.9366.C
P11.8204.C
P11.9270.C
P11.9069.CP
P11.9082.CP
P11.8944.CP
P11.9101.CP
P11.9394.CP
P11.9243.CP
P11.9265.C
P11.9321.CP
P11.9580.C
P11.9370.CP
P11.9367.CP
P11.9780.CP
P10.901.S
P10.901.C
P10.902.S
P10.902.C
P10.909.ST
P10.909.STB
P10.912.C01
P10.912.C02
P10.916.R1
P10.927.R
P10.940.S
P10.940.C
P10.940.CP
P10.941.S
P10.941.C
P10.941.CP
P10.942.8
P10.942.C
P10.944.R
P10.948.S
P10.951.8
P10.450.R25

Firestone Ref

W01 095 0021
W01 095 0030
W01 095 0118
W01 095 0173
W01 095 0174
W01 095 0191
W01 095 0195
W01 095 0198
W01 095 0198
W01 095 0207
W01 095 0229
W01 095 0244
W01 095 0245
W01 095 0429
W01 095 0435
W01 352 9102
W01 358 8050
W01 358 8091
W01 358 8204
W01 358 8709
W01 358 8729
W01 358 8755
W01 358 8929
W01 358 8944
W01 358 9069
W01 358 9069
W01 358 9082
W01 358 9082
W01 358 9082
W01 358 9101
W01 358 9101
W01 358 9101
W01 358 9121
W01 358 9121
W01 358 9122
W01 358 9122
W01 358 9156
W01 358 9156
W01 358 9243
W01 358 9265
W01 358 9270
W01 358 9321
W01 358 9321
W01 358 9361
W01 358 9361
W01 358 9366
W01 358 9367
W01 358 9367
W01 358 9370
W01 358 9394
W01 358 9580
W01 358 9640
W01 358 9780
W01 358 9780
W01 D08 8684

Pega

P10.661.R
P10.662.R
P10.644.R
P10.896.R
P10.897.R
P10.727.R
P10.720.R
P10.944.R
P10.673.R
P10.662.R
P10.897.R
P10.927.R
P10.896.R
P10.1885.R1
P10.882.R1
P10.4159.501
P11.8050.C
P11.8091.C
P11.8204.C
P11.8709.C
P11.8729.C
P11.8755.C
P10.4156.CP10
P11.8944.CP
P10.4154.CP05
P11.9069.CP
P10.4156.C04
P11.9082.C
P11.9082.CP
P10.4159.C04
P11.9101.C
P11.9101.CP
P11.9121.C
P11.9121.CP
P11.9122.C
P11.9122.CP
P11.9156.CP
P11.9156.C
P11.9243.CP
P11.9265.C
P11.9270.C
P11.9321.C
P11.9321.CP
P10.4156.C06
P10.4156.CP15
P11.9366.C
P11.9367.C
P11.9367.CP
P11.9370.CP
P11.9394.CP
P11.9580.C
P11.9640.C
P11.9780.CA
P11.9780.CP
P10.887.2C1

Firestone Ref

W01 M58 0028
W01 M58 0031
W01 M58 0031
W01 M58 0491
W01 M58 0500
W01 M58 0687
W01 M58 0687
W01 M58 0736
W01 M58 0747
W01 M58 0749
W01 M58 0756
W01 M58 0775
W01 M58 0776
W01 M58 0777
W01 M58 0780
W01 M58 0919
W01 M58 6257
W01 M58 6297
W01 M58 6338
W01 M58 6339
W01 M58 6339
W01 M58 6345
W01 M58 6345
W01 M58 6348
W01 M58 6359
W01 M58 6359
W01 M58 6364
W01 M58 6364
W01 M58 6366
W01 M58 6367
W01 M58 6367
W01 M58 6367
W01 M58 7074
W01 M58 7074
W01 M58 7238
W01 M58 7335
W01 M58 7335
W01 M58 7358
W01 M58 7370
W01 M58 7380
W01 M58 7385
W01 M58 7548
W01 M58 8106
W01 M58 8185
W01 M58 8185
W01 M58 8186
W01 M58 8502
W01 M58 8584
W01 M58 8601
W01 M58 8601
W01 M58 8602
W01 M58 8602
W01 M58 8609
W01 M58 8610
W01 M58 8611

Pega

P10.811.ST
P10.909.ST
P10.809.ST
P10.810.ST
P10.4913.C02
P10.909.STB
P10.809.STB
P10.4159.505
P10.811.STB
P10.810.STB
P10.4022.502
P10.836.51
P10.836.S
P10.836.52
P10.887.S
P10.4004.502
P10.4158.502
P10.4157.CP04
P10.4810.C05
P10.813.C
P10.813.C2
P10.810.S
P10.810.C
P10.4023.C03
P10.811.S
P10.811.C
P10.813.C
P10.813.C2
P10.4004.CP03
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.4157.CP05
P10.4157.CP09
P10.813.S
P10.810.S
P10.810.C
P10.4813.C07
P10.4028.C05
P10.4008.C01
P10.912.C02
P10.4159.CP14
P10.4028.C02
P10.8185.S
P10.4158.CP03
P10.4157.CP06
P10.912.C01
P10.942.C
P10.4881.502
P10.4881.C
P10.4881.CP
P10.4881.C
P10.940.C
P10.725.C03
P10.942.S



Firestone Ref

W01 M58 8612
W01 M58 8613
W01 M58 8613
W01 M58 8619
W01 M58 8619
W01 M58 8620
W01 M58 8621
W01 M58 8683
W01 M58 8701
W01 M58 8705
W01 M58 8715
W01 M58 8721
W01 M58 8722
W01 M58 8747
W01 M58 8775
W01 M58 8775
W01 M58 8786
W01 M58 8859
W01 M58 8859
W01 M58 8966
W01 M58 8966
W01 M58 8966
W01 M58 8969
W01 M58 8978
W01 M58 8978
W01 M58 8978
W01 M58 9089
W01 M58 9131
W01 M58 9707
W01 M58 9910
W01 M58 9910
W01 M58 9910
W01 M58 9910

Firestone Style

1R1A 370 285
1R1A 370 285
1R1A 390 295
1R1C 390 310
1R1D 355 355
1R1J 415 285
1R1J 520 285
1R1K 440 320
1R2A 445 280
1R2A 460 295
1R2D 460 360
1R4R 465 260
1T15L-6
1T15L-6
1T15L-6
1T15L-6
1T15LNR-3
1T15M-11
1T15M-11

Pega

P10.4022.CP05
P10.940.S
P10.940.CP
P10.941.C
P10.941.CP
P10.941.8
P10.951.S
P10.887.S
P10.836.C6
P10.836.C4
P10.836.C7
P10.836.2C1
P10.836.C1
P10.0081.C
P10.810.S
P10.810.C
P10.4912.C07
P10.4159.C03
P10.4159.C06
P10.881.S
P10.881.C
P10.881.CP
P10.725.C02
P10.881.8
P10.881.C
P10.881.CP
P10.4156.C09
P10.4159.CP09
P10.4420.C01
P10.901.C
P10.902.C
P10.901.S
P10.902.S

Pega

P10.944.R
P10.673.R
P10.644.R
P10.661.R
P10.662.R
P10.927.R
P10.896.R
P10.897.R
P10.1885.R1
P10.720.R
P10.727.R
P10.882.R1
P10.909.ST
P10.909.STB
P10.809.ST
P10.809.STB
P10.887.S
P11.9321.CP
P11.9367.CP

Firestone Style

1T15M-11
1T15M-2
1T15M-2
1T15M-4
1T15M-4
1T15M-6
1T15M-6
1T15M-6
1T15M-6
1T15M-6
1T15M-6
1T15M-9
1T15M-9
1T15M-9
1T15M-9
1T15M-9
1T15M-9
1T15M-9
1T15M-9
1T15M-9
1T15M-9
1T15MLW-7
1T15MM-9
1T15MPW-7
1T15MPW-7
1T15MPW-7
1T15MPW-7
1T15MPW-9
1T15MPW-9
1T15MPW-9
1T15MT-3
1T15NLR-3
1T15VP-4
1T15ZR-6
1T17AR-4.5
1T17AR-4.5
1T17AR-4.5
1T17AR-4.5
1T17AR-4.5
1T17AR-4.5
1T17AR-4.5
1T17AR-4.5
1T17B-11
1T17B-5
1T17BB-2
1T17BR-8
1T17BS-6
1T17BS-6
1T17BS-6
1T17BS-6
1T17BS-6
1T17BS-6
1T17BS-6
1T17CA-5
1T17CL-9.5

Pega

P11.9370.CP
P11.8204.C
P11.9366.C
P10.4154.CP05
P11.9069.CP
P10.4156.C04
P10.4156.C06
P10.4156.C09
P10.4156.CP10
P10.4156.CP15
P11.9082.CP
P10.4159.C03
P10.4159.C04
P10.4159.C06
P10.4159.CP14
P10.4159.CP09
P10.4159.501
P10.4159.505
P11.9394.CP
P11.9101.CP
P11.9243.CP
P11.8944.CP
P11.9265.C
P10.4157.CP04
P10.4157.CP05
P10.4157.CP06
P10.4157.CP09
P10.8185.S
P10.4158.502
P10.4158.CP03
P11.9640.C
P10.887.2C1
P11.9270.C
P11.9780.CP
P10.836.C4
P10.836.S
P10.836.C1
P10.836.C6
P10.836.C7
P10.836.51
P10.836.52
P10.836.2C1
P10.0081.C
P11.8755.C
P11.8729.C
P10.4420.C01
P10.4004.502
P10.4022.502
P10.4004.CP03
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.4022.CP05
P11.8709.C
P11.9580.C

Firestone Style

1T17D 4.3
1T17D 8.3
1T17D-12
1T17D-4.3
1T17D-4.3
1T17D-8.3
1T17D-8.3
1T19F-11
1T19F-11
1T19F-11
1T19F-11
1T19F-12
1T19F-7
1T19FC-6
1T19G-12
1T19G-12
1T19G-12
1T19G-12
1T19L-10
1T19L-10
1T19L-11
1T19L-11
1T19L-11
1T19L-11
1T19L-11
1T19L-11
1T19L-12
1T19L-14
1T19L-14
1T19L-14
1T19L-14
1T19L-7
1T19L-7
1T19L-7
1T19L-7
1T19L-7
1T19ZK-5.7
1T66D-7.0
1T66D-7.0
1T66D-7.0
1T66F-10.8
1T66F-10.8
1T66F-10.8
1T66F-10.8
1T66F-10.8
1T66F-13.5
1T66F-13.5

Good Year

8012
8017
8018
8028
8037

Pega

P10.940.S
P10.941.8
P10.951.8
P10.940.C
P10.940.CP
P10.941.C
P10.941.CP
P10.811.S
P10.811.C
P11.9122.CP
P11.9156.C
P10.4008.C01
P11.9121.CP
P11.8091.C
P10.901.8
P10.902.8
P10.901.C
P10.902.C
P10.811.ST
P10.811.STB
P10.813.S
P10.4023.C03
P10.4028.C05
P10.4813.C07
P10.813.C
P10.813.C2
P10.4028.C02
P10.912.C01
P10.912.C02
P10.4912.C07
P10.4913.C02
P10.810.S
P10.4810.C05
P10.810.C
P10.810.ST
P10.810.STB
P11.8050.C
P10.4881.502
P10.4881.C
P10.4881.CP
P10.881.S
P10.725.C02
P10.725.C03
P10.881.C
P10.881.CP
P10.942.S
P10.942.C

Pega

P10.944.R
P10.644.R
P10.661.R
P10.897.R
P10.927.R



Good Year

8040
8117
9002
9003
9007
9008
9012
9015
9048
9050

9051

9066
9505
9506
9506
9507
9508
9517
9518
9519
9520
9522
9523
9524

1R 12-039
1R 12-069
1R 12-092
1R 12-103
1R 12-256
1R 12-281
1R 12-303
1R 12-366
1R 12-367
1R 12-375
1R 12-440
1R 12-480
1R 12-487
1R 12-522
1R 13-038
1R 13-118
1R 13-119
1R 13-124
1R 13-130
1R 13-159
1R 14-019
1R 14-039
1R 14-171
1R10-702
1R11-106
1R11-106
1R11-106
1R11-111
1R11-111
1R11-700
1R11-702

Pega

P10.896.R
P10.727.R
P10.884.R1
P10.1885.R1
P10.662.R
P10.720.R
P10.883.R1
P10.916.R1
P10.882.R1
P10.450.R25
P10.673.R
P10.713.R
P10.4390.C01
P10.4390.C02
P10.4390.C03
P10.4390.51
P10.4390.S2
P10.4757.51
P10.4757.S2
P10.4757.C01
P10.4757.C09
P10.4838.C02
P10.4737.C01
P10.4737.C02
P11.9121.CP
P11.9069.CP
P11.9082.CP
P11.9101.CP
P11.9321.CP
P11.9394.CP
P11.9780.CP
P11.8944.CP
P11.9640.C
P11.9265.C
P11.9370.CP
P11.9243.CP
P11.9366.C
P11.8204.C
P11.9122.CP
P11.9580.C
P11.9270.C
P11.8755.C
P11.8729.C
P11.8709.C
P11.9156.C
P11.8050.C
P11.8091.C
P10.4882.502
P10.4157.CP05
P10.4157.CP09
P10.9002.CPA3
P10.4157.CP04
P10.9002.CPA8
P10.941.S
P10.941.C

Good Year

1R11-703
1R11-703
1R11-704
1R11-705
1R11-709
1R11-713
1R11-714
1R11-714
1R11-714
1R11-743
1R11-752
1R11-764
1R11-772
1R11-773
1R11-781
1R11-796
1R11-799
1R11-800
1R11-801
1R11-802
1R11-803
1R11-804
1R11-820
1R12-069
1R12-069
1R12-092
1R12-093
1R12-113
1R12-281
1R12-461
1R12-603
1R12-700
1R12-701
1R12-702
1R12-706
1R12-709
1R12-709
1R12-710
1R12-711
1R12-712
1R12-716
1R12-716
1R12-717
1R12-719
1R12-719
1R12-721
1R12-723
1R12-748
1R12-749
1R12-761
1R12-762
1R12-763
1R12-764
1R12-768
1R13-150

Pega

P10.940.S
P10.940.C
P10.951.8
P10.4004.502
P10.4022.502
P10.4004.CP03
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.941.CP
P10.940.CP
P10.4157.CP06
P10.4157.CP10
P10.4157.CP08
P10.4022.CP05
P10.887.S
P10.4940.502
P10.4961.502
P10.4960.S02
P10.4941.502
P10.4962.502
P10.4883.502
P10.4884.502
P10.4154.501
P10.4154.CP05
P10.4156.C04
P10.4156.S01
P10.4159.S501
P10.4159.C08
P10.4156.CP10
P11.9780.CA
P10.836.S
P10.4159.C06
P10.4159.C07
P10.4156.C09
P10.809.ST
P10.809.STB
P10.836.52
P10.836.2C1
P10.836.C1
P10.4156.C04
P10.4156.CP14
P10.4159.C04
P10.4156.C06
P10.4156.CP15
P10.4159.CP09
P10.836.C7
P10.4158.502
P10.4158.CP03
P10.4159.505
P10.4713.C02
P10.4713.S
P10.836.51
P10.836.C6
P10.0081.C

Good Year

1R13-711
1R13-713
1R13-714
1R14-059
1R14-700
1R14-701
1R14-705
1R14-708
1R14-712
1R14-713
1R14-714
1R14-715
1R14-718
1R14-724
1R14-727
1R14-729
1R14-730
1R14-739
1R14-748
1R14-753
1R14-755
1R14-756
1R14-757
1R14-782
1R14-814

Phoenix

1D23B
1D 23B-2
1D 23B-2
1D 23 C-1
1D 28A-10
1D 28A-2
1D28B
1D 28 B-10
1D 28 B-12
1D 28B-2
1D 28B-2
1D 28B-2
1D 28B-5
1D 28B-9
1D 28 C-12
1D 28 D-10
1D 28 D-2
1D 28 F-1
1D 28 H-16
1D 28 H-16 NP
1DF 22 C-1
1 DF 25-1

1 DF 25-11
1 DF 25-12
1 DF 25-13
1 DF 25-14
1 DF 25-15

Pega

P10.4912.C07
P10.4912.508
P10.4911.C03
P10.810.C
P10.942.S
P10.4881.502
P10.813.S
P10.881.S
P10.881.C
P10.810.STB
P10.810.ST
P10.811.ST
P10.811.C
P10.4881.C
P10.4813.C07
P10.4023.C03
P10.4810.C05
P10.811.STB
P10.881.CP
P10.4913.C02
P10.4913.504
P10.725.C03
P10.4881.CP
P10.4028.C02
P10.725.C03

Pega

P10.809.ST
P10.909.STB
P10.809.STB
P10.909.ST
P10.4810.C05
P10.810.C
P10.811.ST
P10.4023.C03
P10.4028.C05
P10.811.S
P10.813.C
P10.813.C2
P10.813.S
P10.4813.C07
P10.4008.C01
P10.912.C01
P10.912.C02
P10.4028.C02
P10.4913.C02
P10.4913.504
P10.4713.C02
P10.836.S
P10.836.C1
P10.836.C7
P10.836.2C1
P10.836.C4
P10.836.C6



Phoenix

1 DF 25-3

1 DF 25-4

1 DK 20 A-1

1 DK 20 A-51

1 DK 20 B-1

1 DK 20 B-1 NP
1DK 20 C-2

1 DK 21

1 DK 21

1 DK 21

1DK 21A-2

1 DK 21A-2
1DK21A-3
1DK 21 A-31
1DK21A-4
1DK 21B-2
1DK 21B-2

1 DK 21 B-2/6
1DK 21B-4
1DK21B-5NP
1DK 21K
1DK 21K
1DK 21K
1DK21K-3
1DK 22 E-11
1DK 22 E-5 NP
1DK 22 E-8
1DK 22 E-9
1DK22 E-9
1DK22 E-9
1DK 22 E-9 NP
1 DK 23 F-1

1 DK 23 K-28

1 DK 23 K-9082
1DK 23 L-25
1DK 23 L-27

1 DK 23 L-9131
1 DK 23 L-9192
1DK28A
1DK 28 A-4
1DK 28 A-4

1 DK 28 B-4
1DK 28 F-4
1DK 32

1DK 32

1DK 32

1DK 32 K
1DK 32 K
1DK 32 K
1DK32L
1DK32L
1E21

1E 216
1E23

1E25

Pega

P10.836.52
P10.836.51
P10.4157.CP06
P10.4157.CP10
P10.4158.CP03
P10.4158.502
P10.4157.CP08
P10.941.8
P10.941.C
P10.941.CP
P10.4156.C06
P10.4156.S01
P10.4157.CP05
P10.4157.CP09
P10.4157.CP04
P10.4159.C04
P10.4159.C06
P10.4159.501
P10.4159.CP14
P10.4159.505
P10.940.S
P10.940.C
P10.940.CP
P10.4960.502
P10.4022.CP05
P10.4004.502
P10.4004.CP03
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.4022.502
P10.4154.CP05
P10.4156.C07
P10.4156.CP14
P10.4159.C07
P10.4159.C03
P10.4159.CP09
P10.4159.CP13
P10.810.ST
P10.810.S
P10.810.STB
P10.811.STB
P10.4912.C07
P10.881.S
P10.881.C
P10.881.CP
P10.4881.S502
P10.4881.C
P10.4881.CP
P10.942.8
P10.942.C
P10.644.R
P10.944.R
P10.450.R25
P10.661.R

Phoenix

1E32

1F 16-1
1F20A
1F20B
1F21
1F21A
1F21C-2
1F21C-5
1F21D
1F32A

1 KF 21-1
1 KF 21-1 NP
1KF 21-2
1 KF 21-2 NP
1D 23B
1DK 21 A-3
1DK 21 A-3
1DK 21 A-8
1DK 21 A-8
2E18A
2E18B
2E23

Dunlop Fr

D10U01
D11B33
D11B37
D11B41
D11S01
D11S06
D11U30
D11U31
D11U31
D11U36
D11U38
D11U40
D11U41
D11U42
D11U43
D11U44
D11U45
D11U46
D11U47
D11U48
D12B01
D12B04
D12B08
D12B13
D12B14
D12B14
D12B14
D12B15
D12B16
D12B17

Pega

P10.662.R
P10.882.R1
P10.884.R1
P10.1885.R1
P10.720.R
P10.673.R
P10.883.R1
P10.916.R1
P10.713.R
P10.727.R
P10.4390.C01
P10.4390.51
P10.4390.C02
P10.4390.S2
P10.4154.S01
P10.9002.SA3
P10.9002.CPA3
P10.9002.SA8
P10.9002.CPA8
P10.896.R
P10.927.R
P10.897.R

Pega

P10.4882.502
P10.941.CP
P10.4157.CP06
P10.4022.CP05
P10.644.R
P10.673.R
P10.941.S
P10.940.S
P10.940.C
P10.940.CP
P10.941.C
P10.4022.502
P10.887.S
P10.4940.502
P10.4961.S02
P10.4960.S02
P10.4941.502
P10.4962.502
P10.4883.502
P10.4884.502
P10.4159.C06
P10.4159.CP09
P10.4159.C03
P10.4004.CP03
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.4159.C07
P10.4156.C09
P10.4157.CP05

Dunlop Fr

D12B17
D12B18
D12B18
D12B19
D12B19
D12B22
D12B24
D12B29
D12B30
D12B33
D12B33
D12B34
D12D17
D12S02
D12S04
D12S05
D12S06
D12S07
D12S12
D12S13
D12S15
D12T10
D12T11

D12T11

D12U04
D12U13
D12U23
D12U24
D12U25
D12U26
D12U27
D12U34
D13A02
D13B02
D13B10
D13B19
D13B19
D13B22
D13B25
D13B26
D13B32
D13B33
D13B34
D13B40
D13B41
D13B42
D13B43
D13S01
D13S03
D13S04
D13T01

D13T02
D13T03
D13T04
D13T05

Pega

P10.4157.CP09
P10.4157.CP04
P10.9002.CPA8
P10.4156.C06
P10.4156.CP15
P10.4158.CP03
P10.4713.C02
P10.4157.CP10
P10.4157.CP08
P10.4156.CP14
P10.4156.C04
P10.4159.C04
P10.9002.CPA3
P10.661.R
P10.720.R
P10.916.R1
P10.884.R1
P10.1885.R1
P10.882.R1
P10.450.R25
P10.713.R
P10.4390.C01
P10.4390.C02
P10.4390.C03
P10.4159.S05
P10.4004.S02
P10.4158.502
P10.4713.S
P10.4390.51
P10.4390.S2
P10.836.S1
P10.809.STB
P10.811.ST
P10.813.S
P10.4813.C07
P10.813.C
P10.813.C2
P10.4813.C07
P10.4810.C05
P10.4023.C03
P10.836.C1
P10.836.C7
P10.811.C
P10.4912.C07
P10.4911.C03
P10.0081.C
P10.836.C6
P10.662.R
P10.883.R1
P10.727.R
P10.4757.CO1
P10.4757.C09
P10.4838.C02
P10.4737.C01
P10.4737.C02



Dunlop Fr

D13U31
D13U31
D13U32
D13U40
D13U42
D13U43
D14B36
D14B37
D14B41
D14B42
D14B43
D14B44
D14B47
D14U36
D14U37
D14U42
D14U45
D14U49
SP 1217
SP 2066
SP 2067
SP 2191

Dunlop Uk

PNP 300080100
PNP 301000100
PNP 301470101
PNP 302730101
PNP 304980101
PNP 305140100
PNP 305210101
PNP 306420100
PNP 307520000
PNP 311370000
PNP 311370000
PNP 311380000
PNP 311670000
PNP 311770000
PNP 311770000
PNP 311770000
PNP 311780000

CF Gomma/Pirelli

1S 285-23
1S 285-24
18 300-27
1S 310-28
15320 30
1 SC 250-28
1 SC 250-29
1SC 270-28

Pega

P10.836.52
P10.836.2C1
P10.836.S
P10.4912.508
P10.4757.51
P10.4757.52
P10.881.C
P10.4881.C
P10.881.CP
P10.4913.C02
P10.725.C03
P10.4881.CP
P10.4028.C02
P10.881.S
P10.4881.S02
P10.4913.504
P10.810.ST
P10.811.STB
P10.944.R
P10.811.S
P10.810.C
P10.896.R

Pega

P10.927.R
P10.720.R
P10.644.R
P10.662.R
P10.661.R
P10.896.R
P10.897.R
P10.727.R
P10.4159.C04
P10.4159.C03
P10.4159.C06
P10.810.STB
P10.811.S
P10.813.S
P10.813.C
P10.813.C2
P10.810.C

Pega

P10.944.R
P10.644.R
P10.450.R25
P10.661.R
P10.897.R
P10.882.R1
P10.883.R1
P10.884.R1

CF Gommal/Pirelli

18SC 270-30
1 SC 285-22
1 SC 290-30
1 SC 360-30
1 SC 360-34
1T19EA1
1T19EA1
1T19EA1
1T19E1S
1T19E-2
1T19E-2
1T19E-2
1T19E-2
1T19E-2
1T19E-2
1T19E-2BR
1T19E-3
1T19E4
1T19 E-5 steel
1T 300-37
1T 300-37
1T 300-37
1T 300-37
1T 320

1T 320 SP
1T 320 SP
17T 320 SP
1T 323-33
1T 323-33
1T 323-33
1T 323-33
1T 323-33
1T 323-33
1T 323-40
1T 323-40
1T 323-40
1T 323-40
1T 323-40
1T 323-40
1T 323-40
1T19 E-1

1 TC 300-36
1 TC 300-36
1 TC 300-36
1TC 360-45
1TC 360-45
1TC 360-45
1TC 360-45
1 TC 360-45
1TC 360-45
1T 323-32
1T19E-2L/206333

Pega

P10.1885.R1
P10.673.R
P10.720.R
P10.662.R
P10.727.R
P10.810.S
P10.810.C
P10.810.STB
P10.810.ST
P10.811.S
P10.813.S
P10.4023.C03
P10.811.C
P10.813.C
P10.813.C2
P10.4813.C07
P10.948.S
P10.912.C02
P10.4004.502
P10.4004.CP03
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.909.ST
P10.909.STB
P10.809.ST
P10.809.STB
P10.4004.CP03
P10.4156.C04
P10.4156.C06
P10.4156.S01
P10.4156.S505
P10.4156.CP15
P10.4159.C03
P10.4159.C04
P10.4159.C06
P10.4159.C07
P10.4159.CP14
P10.4159.501
P10.4159.505
P10.4810.C05
P10.941.S
P10.941.C
P10.941.CP
P10.881.S
P10.725.C02
P10.725.C03
P10.725.501
P10.881.C
P10.881.CP
P10.4156.CP14
P10.912.C01

Taurus

B 104/K 104
B 141

B 149

B 151

B 151

B 152

B 154

B 155

B 165

B 166

B 179

BL 114

BL 121

BL 128

BL 249

F 214-200
K151

K 504-9069
K 505

K 505-27 SM
K 506-22 SU
K 509-05

K 622-26 SM
KR 506-21
KR 506-28
KR 509-25
KR 622-01
KR 622-26
KR 622-26
KR 625

KR 721

KR 721-03
KR 721-05
KR 721-06
KR 725-28
KR 725-28
KR 725-28
KR 730-01
KR 732-01
KR 836-01
KR 913-57
KR 915-51
KR 915-52
KR 915-54
UR 504-13
UR 621-03
UR 621-04
UR 622-03
UR 837-01
UR838-01 T

Pega

P10.810.C
P10.673.R
P10.727.R
P10.909.ST
P10.909.STB
P10.720.R
P10.916.R1
P10.882.R1
P10.897.R
P10.896.R
P10.927.R
P10.661.R
P10.644.R
P10.450.R25
P10.884.R1
P10.662.R
P10.809.ST
P10.4154.501
P10.4004.502
P10.4004.CP03
P10.4156.C04
P10.4159.501
P10.811.S
P10.4156.S01
P10.4156.C06
P10.4159.C06
P10.4813.C07
P10.813.S
P10.811.C
P10.4913.C02
P10.836.S
P10.836.2C1
P10.836.C6
P10.836.C1
P10.4022.C02
P10.4022.CP03
P10.4022.CP02
P10.941.S
P10.940.S
P10.881.S
P10.9002.CPA3
P10.4157.CP10
P10.4157.CP06
P10.9002.CPA8
P10.809.STB
P10.810.STB
P10.810.ST
P10.811.ST
P10.942.S
P10.4881.502



SIAONFAUI43Y NI O SINILSAS ONIRMAS IV




BPW Pega FREIGHTLINER Pega HENDRICKSON Pega
02.200.24.10.0 P10.720.R 16-13810-000 P11.9780.CP S 20124 P11.9265.C
02.200.24.20.0 P10.727.R 681-320-0017 P11.9780.CA S 20127 P11.9580.C
02.200.24.40.0 P10.644.R S 20217 P11.8944.CP
02.200.24.60.0 P10.662.R S 20223 P11.9640.C
05.429.40.01.0 P10.881.S il Pega S 2066 P11.9082.C
05.429.40.03.0 P10.941.S 431487 P10.4420.S S 2066 P11.9082.CP
05.429.40.05.0 P10.942.S 003615E P10.813.C S 20900 P11.8709.C
05.429.40.08.1 P10.881.C MO001472 P10.4156.C09 S 2091 P11.8091.C
05.429.40.28.1 P10.941.C MO001472 P10.4156.CP15 S 22045 P11.8755.C
05.429.40.72.0 P10.951.S MO001774 P10.4159.CP09 S 3467 P11.9122.C
05.429.40.91.0 P10.940.S M001782 P10.4159.C07 S 3467 P11.9122.CP
05.429.41.01.0 P10.4881.502 MO078580 P10.4157.CP03 S 4771 P11.8050.C
05.429.41.09.0 P10.4942.502 MO078580 P10.4157.CP08 S 7128 P11.9156.C
05.429.41.14.1 P10.940.C UCD-9393-2 P11.9394.CP S 7128 P11.9156.CP
05.429.41.23.1 P10.940.C UJA 0894-001 P10.4159.CP14
05.429.41.24.1 P10.941.C UJB 0203-001 P10.4159.C07
05.429.41.25.0 P10.4941.502 UJB 0207-001 P10.4156.C09 IVECO Pega
05.429.41.31.1 P10.4881.C UJB 0305-001 P10.4008.C01 2498667 P10.661.R
05.429.41.56.0 P10.4940.S02 UJB 0305-001 P10.4008.S 4714025 P10.673.R
05.429.41.77.0 P10.4960.502 UJB 0358-001 P10.4159.CP09 4714025 P10.944.R
05.429.42.03.0 P10.4962.502 UJB0975 P10.4157.CP10 4722525 P10.944.R
05.429.42.04.0 P10.4961.502 4738008 P10.944.R
05.429.42.19.1 P10.940.C 4746733 P10.661.R
05.429.43.20.0 P10.941.CP GIGANT Pega 6657150 P10.944.R
05.429.43.21.0 P10.940.CP 166217 P10.725.C02 8188526 P10.944.R
05.429.43.41.0 P10.4881.CP 166225 P10.724.C02 8188539 P10.884.R1
05.429.43.51.0 P10.881.CP 166252 P10.725.C03 41822247 P10.661.R

166259 P10.724.C03 41822247 P10.662.R

196043 P10.727.R 93197594 P10.450.R25
27 Pega 246149 P10.725.501 97108363 P10.884.R1
0 067 306 P10.811.51 246169 P10.724.501 98478799 P10.1885.C
0 067 504 P10.836.S 246192 P10.726.501 98478799 P10.1885.R1
0297 721 P10.836.C7 247100 P10.752.S01 500301452 P10.884.R1
0377 498 P10.836.C4 247100 P10.752.C 536905265 P10.644.R
0 388 165 P10.836.C1
0388 167 P10.836.2C1
0392 022 P10.887 C1 GRANNING Pega KASSBOHRER Pega
0513982 P10.836.S2 1359 P10.4156.C04 4.731.012.000 P10.661.R
0513983 P10.887.S 1528 P10.4156.C04 4.731.029.000 P10.811.ST
0513 985 P10.836.51 15634 P10.813.C 4.731.030.000 P10.813.C
0 526 651 P10.836.C6 15635 P10.810.C 4.731.031.000 P10.661.R
0559 483 P10.887.2C1 15732 P10.4157.CP05 4.731.033.000 P10.813.C
0578 361 P10.662.R 4.731.042.000 P10.661.R
0627 584 P10.673.R HENDRICKSON Pega 4.771.110.000 P10.644.R
0 627 584 P10.944.R 4.771.143.000 P10.644.R
0638 148 P10.727.R 505 859 P10.813.C 4.771.170.000 P10.644.R
0676 122 P10.811.51 505 859/ 01 P10.813.C 4.771.359.000 P10.644.R
0689 677 P10.644.R 506 243 P10.810.C 4.771.427.000 P10.661.R
1141525 P10.887.C6 506 243 / 01 P10.810.C 4.771.440.000 P10.661.R
1384 273 P10.810.C 507 782 P10.912.C02 4.771.441.000 P10.644.R
1384 274 P10.811.C 785 168 P10.810.C
1697 678 P10.836.C1 785170 P10.813.C

B 2066 P10.4156.CP14 LLAoldi =i seni

B 3842 P10.4159.CP11 0249 1566 P10.673.R
B Pega HA100001 P10.4156.CP15 0249 8667 P10.661.R
611896 / 12 P10.927.R HA100016 P10.4156.CP10 0418 22247 P10.661.R
650 292 / 8 P10.720.R HS 251087 P10.0081.C 536 905 265 P10.644.R
650 883 / 4 P10.720.R NA 1817 P10.4159.C08
650883 /7 P10.720.R NA 1817 P10.4159.CP13
656 289 / 2 P10.897.R S 14249 P11.9367.C
656 300/ 2 P10.896.R S 14249 P11.9367.CP

$ 20010 P11.9270.C




MAN Pega MAN Pega MERCEDES Pega
81.43600.6035 P10.4884.C06 81.43601.0126 P10.916.R1 A 946 320 03 21 P10.4737.CO1
81.43601.0017 P10.644.R 81.43601.0128 P10.883.R1 A 946 320 03 21 P10.4737.51
81.43601.0018 P10.662.R 81.43601.0132 P10.882.R1 A 946 320 04 21 P10.4838.C01
81.43601.0025 P10.809.ST 81.43601.0140 P10.1885.R1 A 946 320 05 21 P10.4737.C02
81.43601.0033 P10.720.R 81.43601.0144 P10.661.R A 946 328 04 01 P10.0081.C
81.43601.0033 P10.720.R 81.43601.0150 P10.1885.R1 A 946 328 14 01 P10.4157.CP04
81.43601.0033 P10.720.R 81.43601.0151 P10.4882.502 A 974 320 04 17 P10.4757.C09
81.43601.0035 P10.811.ST 81.43601.0152 P10.4883.502 A 974 328 01 01 P10.4757.S2
81.43601.0036 P10.720.R 81.43601.0153 P10.4883.C05

81.43601.0036 P10.720.R 81.43601.0153 P10.4884.502

81.43601.0037 P10.720.R 81.43601.6002 P10.809.STB L Pega
81.43601.0047 P10.810.ST 81.43601.6019 P10.810.STB 1001 10 100 P10.661.R
81.43601.0048 P10.811.ST 81.43601.6023 P10.909.STB 1001 10 200 P10.662.R
81.43601.0050 P10.909.ST 81.43601.6029 P10.909.ST 1001 10 300 P10.644.R
81.43601.0051 P10.662.R 81.43601.6036 P10.4882.C05 1001 12 250 P10.661.R
81.43601.0054 P10.909.ST 1001 12 251 P10.662.R
81.43601.0056 P10.727.R 1001 12 254 P10.644.R
81.43601.0057 P10.727.R A A A Pega 1001 12 300 P10.720.R
81.43601.0057 P10.727.R A 000 327 01 01 P10.644.R 1021 00 200 P10.661.R
81.43601.0058 P10.727.R A 307 327 00 01 P10.644.R 1021 00 500 P10.909.ST
81.43601.0058 P10.727.R A 307 327 01 01 P10.644.R 1021 21 500 P10.909.ST
81.43601.0065 P10.882.R1 A 307 328 00 01 P10.644.R 1024 00 200 P10.661.R
81.43601.0066 P10.884.R1 A 307 328 01 01 P10.727.R AA 10-01-001 P10.661.R
81.43601.0066 P10.884.R1 A 327 328 00 01 P10.644.R AA 10-01-002 P10.662.R
81.43601.0067 P10.882.R1 A 356 327 00 01 P10.450.R25

81.43601.0068 P10.884.R1 A 360 328 01 01 P10.720.R

81.43601.0068 P10.884.R1 A 364 327 70 01 P10.644.R b2k Pega
81.43601.0068 P10.884.R1 A 383 327 00 01 P10.673.R 212 156 32 P10.810.C
81.43601.0068 P10.884.R1 A 387 328 00 01 P10.720.R 212 156 33 P10.813.C
81.43601.0069 P10.884.R1 A 387 328 01 01 P10.720.R 905 570 08 P11.9101.C
81.43601.0069 P10.884.R1 A613 327 00 01 P10.644.R 905 570 08 P11.9101.CP
81.43601.0069 P10.884.R1 A 613 327 01 01 P10.450.R25 905 570 09 P10.4159.C04
81.43601.0070 P10.882.R1 A 613 327 02 01 P10.661.R 905 570 19 P11.9121.C
81.43601.0071 P10.883.R1 A 658 328 00 01 P10.884.R1 905 570 19 P11.9121.CP
81.43601.0072 P10.883.R1 A 658 328 0101 P10.882.R1 905 570 27 P10.4156.C04
81.43601.0073 P10.909.ST A 699 328 01 01 P10.882.R1 905 570 27 P10.4156.CP14
81.43601.0076 P10.727.R A 942 320 0117 P10.4757.CO1 905 570 75 P10.4156.C04
81.43601.0079 P10.727.R A 942 320 01 21 P10.4390.CO1 905 570 75 P10.4156.CP14
81.43601.0082 P10.727.R A 942 320 02 21 P10.4390.C02 905 571 12 P11.9243.CP
81.43601.0084 P10.727.R A 942 320 03 21 P10.4390.C04 905 571 60 P11.9366.C
81.43601.0091 P10.727.R A 942 320 04 21 P10.4390.C03 90557173 P11.8204.C
81.43601.0092 P10.882.R1 A 942 320 32 21 P10.4757.C29 905 572 33 P10.4157.CP03
81.43601.0095 P10.916.R1 A 942 320 35 21 P10.4838.C23 905 572 33 P10.4157.CP08
81.43601.0097 P10.916.R1 A 942 320 36 21 P10.4838.C22

81.43601.0099 P10.882.R1 A 942 320 37 21 P10.4737.C21

81.43601.0100 P10.916.R1 A 942 320 38 21 P10.4838.C21 e Pega
81.43601.0102 P10.916.R1 A 942 320 39 21 P10.4737.C22 5.000.452.939 P10.810.C
81.43601.0103 P10.882.R1 A 942 320 43 21 P10.4757.C21 5.000.745.918 P10.811.C
81.43601.0104 P10.1885.R1 A 942 320 48 21 P10.4758.C21 5.000.790.692 P10.813.C
81.43601.0105 P10.916.R1 A 942 320 49 21 P10.4390.C21 5.001.829.866 P10.661.R
81.43601.0106 P10.884.R1 A 942 320 50 21 P10.4390.C22 5.001.832.067 P10.4912.508
81.43601.0108 P10.884.R1 A 942 320 51 21 P10.4390.C24 5.010.052.722 P10.901.C
81.43601.0109 P10.1885.R1 A 942 320 52 21 P10.4390.C23 5.010.052.722 P10.901.S
81.43601.0110 P10.883.R1 A 942 327 00 01 P10.4390.S1 5.010.130.683 P10.901.C
81.43601.0111 P10.1885.R1 A 942 327 00 01 P10.4757.51 5.010.130.683 P10.901.S
81.43601.0114 P10.727.R A 942 328 00 01 P10.4390.51 5.010.130.925 P10.813.C
81.43601.0116 P10.727.R A 942 328 00 01 P10.4757.S2 5.010.211.724 P10.902.C
81.43601.0118 P10.727.R A 942 328 01 01 P10.4390.S2 5.010.211.724 P10.902.S
81.43601.0120 P10.1885.R1 A 945 320 00 17 P10.4758.C01 5.010.239.252 P10.4154.CP05
81.43601.0121 P10.882.R1 A 945320 00 17 P10.4758.51 5.010.294.385 P10.884.R1
81.43601.0123 P10.1885.R1 A 946 320 01 21 P10.4838.C03 5.010.557.355 P10.4912.C10
81.43601.0125 P10.1885.R1 A 946 320 02 21 P10.4838.C02 5.010.294.252.B P10.4154.CP05




RENAULT Pega SCANIA Pega VOLVO Pega
5.010.294.307.B P10.4912.C07 255293 P10.4813.C07 1076 418 P10.6418.C
5.010.294.307.C P10.4912.C07 255293 P10.4813.S 1076 418 P10.6418.S
5.010.294.308.C P10.4911.C03 255295 P10.4813.C07 1076 420 P10.6420.C
255295 P10.4813.S 1076 594 P10.4713.C02
298568 P10.4813.C07 1076 594 P10.4713.S
Lol Pega 298568 P10.4813.S 1080 707 P10.810.C
1210 8082 P10.810.C 325748 P10.4813.C07 1082 085 P10.883.R1
2120 8082 P10.810.C 325748 P10.4813.S 1134 445 P10.644.R
2120 8939 P10.4156.C04 402315 P10.897.R 1134 446 P10.727.R
2120 8939 P10.4156.CP14 411623 P10.897.R 1137 888 P10.661.R
2121 5632 P10.810.C 411627 P10.896.R 1199 893 P10.644.R
2121 5633 P10.813.C 412622 P10.897.R 1590 136 P10.720.R
2121 5761 P10.4156.C06 413623 P10.897.R 1611776 P10.673.R
2121 5761 P10.4156.C09 434932 P10.927.R 1622 115 P10.720.R
2121 5761 P10.4156.CP15 1107674 P10.4813.C07 1622 116 P10.713.R
21216135 P10.4156.C06 1107674 P10.4813.S 1629 193 P10.720.R
21216135 P10.4156.C09 1314906 P10.4813.C07 3116 354 P10.927.R
2122 1307 P10.4157.CP04 1314906 P10.4813.S 6797 169 P10.713.R
2122 1349 P10.4008.C01 1379392 P10.4813.C07 20 427 803 P10.7803.C
2122 1349 P10.4008.S 1379392 P10.4813.S 20 427 803 P10.7803.S
2122 2239 P10.4028.C05 1379392 P10.4913.C02 20 427 804 P10.7804.C
2122 2442 P10.4157.CP05 1379393 P10.4913.504 20 554 759 P10.4718.S
2122 2442 P10.4157.CP09 1386199 P10.6199.C 20 554 759 P10.4718.CO1
2122 2673 P10.912.C02 1386200 P10.6200.C
1440294 P10.4813.C07
SAF Pega 1440294 P10.4813.S R Pega
1440294 P10.4913.C02 2120 8082 P10.810.C
2.228.0002.00 P10.810.C 1440303 P10.40303.C US 00622 P10.810.C
2.228.2102.00 P10.810.C 1440304 P10.40304.C US 04028 P10.4028.C02
2.228.2202.00 P10.810.C 1440305 P10.40305.C US 04028 P10.4028.S
2.228.2402.00 P10.810.C 1440306 P10.40306.C US 06285 P10.4158.CP03
2.228.2602.00 P10.810.C US 06285 P10.4158.502
2.229.0003.00 P10.813.C SCHMITZ Pega US 06285F P10.8185.CP
2.229.0007.01 P10.4004.C03 US 06285F P10.8185.5
2999.0009.00 P10.948.S 015323 P10.4028.S US 06316 P10.4157.CP06
2229.2103.00 P10.813.C 750 208 P10.661.R US 07074 P10.4157.CP05
2 999.2403.00 P10.813.C 750 209 P10.662.R US 07074 P10.4157.CP09
2929 2603.00 P10.813.C 750 212 P10.727.R US 07337 P10.810.C
3.229.0007 00 P10.4004.CO3 750 212 P10.927.R US 07345 P10.813.C
3.229.0007 00 P10.4004.CPO3 750 999 P10.4158.CP03 US 07364 P10.4157.CP04
3.229.0007 01 P10.4004.C03 750 999 P10.4158.S02 US 07380 P10.4008.C01
PI0A004CPO3 | | 765 cog Piostsss | | usoesstr Fo.4166 Pid
3.229.0007.02 P10.4004.C03 US 35864 P10.4156.C06
— - = US 87408 P10.813.C
3.229.0027.00 P10.4810.C05 624319-420 P10.644.R US 87413 P10.810.C
3.229.0029.00 P10.4022.CP03 624319-610 P10.644.R US 874131 P10.810.C
3.229.0030.00 P10.912.CO1 624319-640 P10.727 R
3.229.0031.00 P10.4023.C03 624319-670 P10.661 R
3.229.0033.00 P10.4022.CP05 624319-690 P10.661 R
3.229.2127.00 P10.4810.C05 624319-860 P10673R
3.229.2129.00 P10.4022.CP03
3.229.2131.00 P10.4023.C03
3.229.2227.00 P10.4810.C05 voLvo Pega
3.229.2229.00 P10.4022.CP03 0 134 445 P10.644.R
3.229.2231.00 P10.4023.C03 1075 363 P10.4718.CO1
3.229.2429.00 P10.4022.CP03 1076 076 P10.4420.C01
3.229.2431.00 P10.4023.C03 1076 076 P10.4420.S
4.284.3003.01 P10.4004.S02 1076 416 P10.6416.C
4.284.3006.00 P10.4022.502 1076 416 P10.6416.S




> & CABIN AIR SPRINGS CROSS & OEM REFERENCES

Air Springs



Pega

P20.1101.B

P20.1101.BA

P20.1201.B

P20.1201.FA

P20.1201.RA

P20.1202.B

P20.1202.FA

P20.1202.RA

P20.1301.B

P20.1301.BA

P20.1302.R

P20.1302.RA

P20.1304.R

P20.1304.RA

P20.2101.B

P20.2101.FA

P20.2101.RA

P20.2102.B

Sachs

481002

112320 105845 105831

557001

105871 290201 290203
290988 105872

105873

310619

310619

310619

105392

105409 290997

105414

Monroe

CB0066

CB0065

CB0030

717262725

717262725

CB0077

CB0077

CB0059

CB0067

CB0074

717262778

Other

Sachs

x

Monroe

Vehicle
Brand

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Scania

Mercedes

Mercedes

Mercedes

Mercedes

Vehicle
Type

93-113-143

93-113-143

94-114-144

94-114-144

94-114-144

94-114-144

94-114-144

94-114-144

R Serie

R Serie

R Serie

R Serie

R Serie

R Serie

Actros

Actros

Actros

Front

Rear

OEM - Part Number

1331621 1331635 393257 1117320 1117334 1331634
370227 1331620 1116535 1348118 550365 1348117

1476415 1381919

1476415 1381904 1397400

1476415 1381906 1382829 1435856 1382826 1397392

1363122 1424228 1381904 1397396

1382827

1424231

1502468

1382827

942 890 29 19

9428900219 9428906019

Shock
Absorber

1348120
1348119

1435859

1397398

1363120

1424229

1505563

1502474

1424229

Spring
Type

1348121 1314278

1348121

1314278

1381919

1381919

1349840

1349840

1349840

1424231

1424231

1502468

1502468

1349840

1349840



Pega

P20.2102.FA

P20.2102.RA

P20.3101.B

P20.3101.FA

P20.3101.RA

P20.3102.FA

P20.3102.RA

P20.3103.FA

P20.3104.FA

P20.3104.RA

P20.4101.FA

P20.4101.RA

P20.4102.RA

P20.4103.FA

P20.4103.RA

P20.4104.RA

P20.4201.RA

P20.4202.RA

Sachs

105414

290998

105855

105856

731700235003 / 300013
731700001686

731700235005 / 300015

731700135176 / 135198

731700135196 / 135196

731700135197 / 135197

731700000892 / 310820

731700135079 / 310821

731700000277

115743

115731

Monroe

Other

Sachs

Arvinmeritor
908322985

Arvinmeritor
908322986

Arvinmeritor
908323140

Monroe

Vehicle
Brand

Mercedes

Mercedes

MAN

MAN

MAN

MAN

MAN

MAN

MAN

MAN

Iveco

Iveco

Iveco

Iveco

Iveco

Iveco

Iveco

Iveco

Vehicle
Type

F2000

F2000

F2000

TGA

TGA

TGA

TGA

TGA

Stralis

Stralis

Stralis

Stralis

Stralis

Stralis

Type2

TypeL

Front

Rear

left

right

Shock

OEM - Part Number Absorber

9438903819

9428905919

81.41722.6048 81.41722.6051

81.41722.6049 81.41722.6052

81.41722.6053

81.41722.6055

81.41722.6057

85.41722.6014 / 6022

85.41722.6015 /6023

500 357 351

500 357 352

504 060 241

500 340 705

500 340 706

504 060 233

41028764 41028763 500377878 500348793

500379698 500307338 99455937 500352808 99438514

Spring
Type



Pega

P20.4203.F

P20.5101.B

P20.5102.B

P20.5103.B

P20.5201.B

P20.5301.RA

P20.5302.F

P20.6101.FA

P20.6102.RA

P20.6103.RA

P20.10101

P20.10102

P20.10103

Sachs Monroe Other

Pirelli IGC130-

30

Contitech
SZ50-10

Contitech
SZ50-8

Contitech
SZ50-6

Contitech 816-

z

Contitech

131041 310957 S736-10

Contitech
SZ50-9

717269833

717269647

717262602
Contitech
SZ51-5

Contitech
SZ51-10

Contitech
SZ51-7

Sachs

Monroe

X

X

X

Vehicle
Brand

Iveco

Renault

Renault

Renault

Renault

Renault

Renault

Volvo

Volvo

Volvo

Seat Air
Spring

Seat Air
Spring

Seat Air
Spring

Vehicle
Type

Eurotech-Eurostar

G340Ti

G340Ti

Gamme G

Magnum

Premium

Premium

FH12-FH16

FH12-FH16

FH12-FH16

Front

X

Rear

Shock

OEM - P Numb
art Number Absorber

5010228908 5010316783 5010269674

3172984 1629724 1629719

20427897 20721169

1075076 1075077

Spring
Type

41019150
8169050

5010266845A

5010092916E

5010320096A

5010130797G



	1-10.pdf
	11-20.pdf
	21-30.pdf
	31-41.pdf
	42-51.pdf
	52-58.pdf
	59-62.pdf
	71-80.pdf
	Katalog 2009 Cross List Pega.pdf
	körük cross1. list.pdf
	oem2. list.pdf
	kabin list.pdf

